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3)
SECTION -1
qug - |
CHILD DEVELOPMENT AND PEDAGOGY
e e g femmeme

There are 30 questions in all in this section.
All questions are compulsory.
30 @Ug H A 30 TH £ |
T4l oA SEE € |

Which among the following 1s not a major period of cognitive development given by
Piaget ?

(A) Sensorymotor stage (B) The pre-operational stage

(C) Cyclic stage (D) Formal operations

frams gro fou o wemTers fawm & figra & frafafaa & @ w5 @1 fowmw =1 @ Fre’
TR

(A) Tades feufa (B) TE-dfsmaens feafa Q%%

(C) =3I = (D) forfees et e
Mental activity that goes on in the brain when a person is processing information is called :
(A) Learning (B) Mental imagery

(C) Thinking (D) Concept

A I SAfe gEAIA F GEYE B @ A 2 q AT B g qIel g ety
ETIGIE

(A) 3P (B) HHHF e

(C) foamm (D) THeuHI

Which of the following has not been shown to help maintain a healthy level of cognitive
functioning ?

(A) Participating in games (B) Working crossword puzzles

(C) Sedentary lifestyle (D) Reading

fraferfiad @ & o @ G R Ugd b WE W R a9 e ° 06 B & ford
ITF T ¢

(A) T d v e (B) 7hiE-T8 Teel T HH T

(C) 3T e ieft (D) 9T HE

“Life presents a continuous chain of struggle for existence and survivals,” is said by

(A) Darwin (B) Shaffer

(C) Jerslid (D) Spencer

S, srfedea & Hed 3R ITRSferan 61 U Haq [Ee SEqd a1 & | 3 fowes g et T
27

(A) zifaq (B) I

(C) g (D) TR
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The three pillars of education are

PL-2

and

(A) Teacher, Student, Curriculum (B)
(C) Education, Methodology, Teacher (D)

fren % o7 yq@ s d , ke

Principle, Teaching, Aim
Importance, Teacher, Objectivity
I

(A) Toerss, B, MR (B)
(C) Toem, ferafafyr, foier (D)

Dyslexiais :
(A) Difficulty in reading skills (B)
(C) Difficulty in writing spellings (D)

(A) e 8 HETR (B)
(C) Teht fora & shigar (D)
Formula of IQ 15 :
MA
(A) A x 100 (B)
. CAx100
© A (D)
gfg wfeu e w1 g 2
MA
(A) A x 100 (B)
CA x 100
© =i (D)

Assimilation 1§ :

firgra, e, Sewa
wge, e, aegfmd

Ditficulty in understanding maths
Difticulty in competing

T FEE T g
ot § Hir

CA
MA 100

MA
mx 100
CA
MA * 100

MA
BA 100

A) Current schema to interpret the external world
P

(B) Process of changing to better
(C) Adapting to internal world
(D) None of these

HATCHHTRL 7 :

(A) TAHH SHMT HT FAT qTE T o f9etvm = for

(B) S&T T o i ufsha
(C) 3t g % e 2T
(D) & U =hig Wt 7
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9.  Which among the following doesn’t fall under the classification of mental retardation ?
(A) Mild retardation (B) Moderate retardation

(C) Severe retardation (D) Acute retardation

fraferfiga o & <= | afies wear % avfie o siarid 1&g ¢
(A) Tehl Hedl (B) WeZH Hedl

(C) it wgan (D) i Te

10. A series of pictures is shown to the subject and he is asked to make a story, is used in

projective technique.

(A) TAT (B) Role Play w5

(C) Rorschach (D) Dramatic Production o

fed 1 fodl i & JEen i@ Sl 2 3 38 0 FEH T & ol Fa1 5 2, TE
) qebftes § e fehar ImaT 2 |

(A) ST GucaE T (B) firshr fafz

(C) T (D) reshia sefa

1. Which among the following is not a subjective method to assess personality ?
(A) Individual history (B) Interview technique
(C) Inventory technique (D) Rating Scale
freferfiaa § & wiv ot Sfaaca =1 3hem F & fort v wafeama fafy 1€ @ ¢

(A) eafFad 3R (B) HIEThR qhei1eh

(C) &g aHS (D) Trerfeor et
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13.

14,

135,

16.

(6) PL-2

proposed the theory of multiple intelligence.

(A) Howard Gardner (B) Freud
(C) Binet (D) Thurstone
A wE-gfg % Taga st R g |

(A) &S MER (B) TS
(© f& (D) U=A

According to Right to Education Act, 2009, no school to be established without obtaining
certificate of :

(A) Appreciation (B) Recognition

(C) Terms and Condition (D) Authorization

RTE fufram, 2009 & sger, ol fea ymm-ma & fom #5 famem wnfia T8
febarn St 7

(A) gl (B) =l msm

() fmwad (D) R %ﬁf

Any relatively permanent change in behaviour or behavioural potential produced by
experience is called :

(A) Learning (B) Thinking

(C) Cognition (D) Motivation

FHE G IeT~ AR A1 SFeEn awa § fepeft ot sriiamed et ufiad el ST

-3

(A) i (B) famma

(C) Frpqfa (D) S

Which among the following is involved in learning process ?
(A) Physiological (B) Psychological
(C) Environmental (D) All of the above
freferiiga o @ diga i ke d mive 2 -

(A) Wi (B) TSNS

(C) aferoft (D) IR wift

The 1$ the immediate environment in which the individual lives.
(A) Microsystem (B) Mesosystem
(C) Exosystem (D) Chronosystem
41 T S 2 fe efE war 2 |

(A) HeH SrTef (B) HeifgwA

(C) vl fimem (D) HiTHT
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17.

18.

19.

20.

21.

(7)
RTE Act, 2009 directs working hours per week for teachers.
(A) 40 hrs. (B) 45 hrs.
(C) 42 hs. (D) 48 hrs.
RTE sfifaem, 2000 fremet o fordt wia aarg feee = #m @ w1 g em 2 7
(A) 409w (B) 459w
(C) 4295 (D) 48%we
Which out of the following 1s not a biological determinant of personality ?
(A) Nervous system (B) Ductless glands
(C) Somatic structure (D) Situational structure
frafafas 1 @ o safre #1 Sfaw fuiw T2 2 7
(A) dfent (B) @nfeHEM i
(C) 2fges g (D) feufae== awe
Which of the following is not a general law of heredity ?
(A) Progression (B) Variation OP10
(C) Regression (D) like begets like E]‘ﬁ
freferfiaa # & ot srgafiesar =1 o Fam T g 7
(A) wfd (B) FI=H
(C) el (D) St Her gt 8

As per Right to Education Act, 2009, Elementary Education means :
(A) Education from first to eighth class (B) Education before first class
(C) Education from 8th to 12th class (D) Education in middle school

RTE tfifram, 2009 % 1 yrifts fien 1 514 2 .
(A) EE HeT H IS e a1 e

(B) wym #oft & yge <) fraq

(C) el & TREd] saf e =hi firen

(D) TTefis e

In the field of mechanism of heredity, modern studies have been done principally in which
direction ?

(A) Cytology (B) Biometry

(C) Experimental breeding of animal (D)  All of the above
AT 7 o HEEH % & |, Fdiv vy forw foam 1 3 s d ¢
(A) WHITTHITGTH (B) Sfamufd

(C) R %1 IR T (D) I7te Tft
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(8) PL-2
Right to Children for free and Compulsory Education falls under Act :
(A) 2009 (B) 2012
(C) 2005 (D) 2010
] o1 g 3 it fre o1 it fpm arffaem % amia aman? ¢
(A) 2009 (B) 2012
(C) 2005 (D) 2010

In giving instructions to the mentally retardeds the teacher must keep in mind that they :
(A) are able to pass examination

(B) learn more vocational skills

(C) work hard to compete with normal children

(D) spend time in competitive games continuously

forerent o1 Al w9 @ fafya A B fdw A s e mn i e e
(A) W il e o mem E |

(B) Fiftrr sreEnlF Sive dig |

(C) W= g=41 & a1y vleery! & % ford wer vfem ot |

(D) orTaR gfeerdf @i § wne foqrd |

Learning through Reward and Punishment 1s :

(A) Observational learning (B) Social learning

(C) Operant conditioning (D) Classical conditioning
TR 92T gve & wred o w2

(A) Segurees HfeTg (B) dmTReh i

(C) Tomamseg argsivm (D) wrefta e

Which of the following is not a step in conducting scientific research ?
(A) Conceptualizing a problem (B) Revising research conclusion
(C) Collecting data (D) Dynamic approach
I S F 1 fem 8 frfafga t e e mvs s T 2 7
(A) Tk THET I FATHROM (B) @y wy e

(C) o Tt e AT (D) Tifcrefer gfeemror

_______ of the test refers to the consistency of scores obtained by an individual on the
same test on different occasion.

(A) Reliabihty (B) Validity

(C) Objectivity (D) None of these

e i =1 Ted 31 iy el | weh € wlem W et wafd gr wra el
FaaE |

(A) Fevaeda (B) v

(C) egHEd (D) ¥ 4B
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27,

28.

29.

30.

9

Sita works at a day care center. The pay is low and hours are long. But she loves being
around children & has no desire to look for a higher-paying job. Sita’s motivation appears
to be :

(A) Intrinsic (B) Extrinsic

(C) Selfish (D) External

i1 Uk 2 <R Fet A 1 HEAl 2 | 9 BY B 3R F O o 2, AR 98 w=i & A
&1 THE A B 3R S A aTel! ARt it Torms A Bis 3T & w@dt 2 | A i
S e e T STt @ 7

(A) 3Tt (B) =&

(C) et (D) =&l

In the identification of the gifted, we must give priority to :

(A) the parents’ opinion (B) result of objective test

(C) teachers’ opinion (D) the community viewpoint
sferarTett *ht TE= g8 Srefierdl ¢t =i : %
(A) Tar-fir 1 (B) I8 Ttar 1 gfwmg e

(©) Tt i T (D) FEITe g

According to Freud, the primary structural elements of personality are :
(A) Conscious, Subconscious, Unconscious

(B) 1d, Ego, Super-cgo

(C) Pleasure principles

(D) Defence mechanism

IS % AR, SAfaded o Srafies s ae § -
(A) =eH, FaEH, I (B) 3, 3EH, TEq
(C) we fagm (D) T&wenes gfafsran

Tendency of body to maintain a steady state is

(A) Homeostatic (B) Balance
(C) Fostering (D) Drive
R araren s v & fordl wili o) wgfar 6 e STTer B -
(A) EwfRfs (B) HgeH
(C) gl & (D) SR
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33.
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(10) PL-2
©ug -1l
T - |

&=

FEEYHA0THE |
At v sTfEr € |

fareron amme & Ay TE THEER Te 1 HEE ATEH 8 - %%E
(A) He frem (B) == frem
(ORRICRIEE! (D) st faremn

78 1ot § A fakm ot il @ 2 2, Seun, foem, 7 wiwmat sedt € 3R angd foem
T TG | AT ST o 168 FIA AU FET R 7

(A) I HT & feru (B) g %t & foru

(C) forui s & fere (D) 3 & & U

et 1w, fowm amft w1, fafay sfeifaned & smeem, s, e,
FHTRISHA AT, T h S BT ITEH i HA1 Jedle Mot Ham Hive o 5 e w1
o TeTeh] % [T 8 7

(A) 39/ & (B) F= Wi &R
(C) Yig frem =R (D) Wy e TR
=1 % forw s Hies 1 va oy oo 21 2 -

(A) 6894 g an (B) 12% 15499 31y o
(C) 18% 21 79 g (D) 21 % 24 99 377 1

R e o gt At 6 wE e gRT =W § TR R % BEl % o gey wd
T 7

(A) fRIER™ (B) Ta W
(@) frgwr™ (D) g T W
UTd - dehi o 3Tfeh dwai 4 @ fir A @ -

(A) Hm§T (B) el

(C) fers gt (D) =R it
Tl i BT o A FAgY | S YRR 8 -

(A) Efomed w (B) S I
(C) Feuras yw (D) enffehd U9
freforfiae wregi # woa o1 st rema s aer o 2 -
(A) Tavaaaa (B) dua

(C) feemerar (D) SRR
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39, W U9 A9 Jodreh YUllel! 3T & W 92 et axft 1 wahet 8 91
(A) Tcdih U&TTTd Ued B, STIeh edieh @ aTiish TUET o TTiieh JrelT-37er g |
(B) foreri, o wd srflvurarnhi 6 ang-wwg WA=l A & |
(C) BE W TR TR 1 7 54 F9698 75d R |
(D) Tierss 3 o A1 whensl o oo @ el 378 31 = 3 |

Traferfiga s i gEeR I T WA % I FAfE - (Y9 E. 40 F 49)

Sgd ¢ % 3R a5d et H I Tged Fel AT 5 foref) i Frear=ll w1 a1 @A A oA 6
&7 % T ] | 3k S e A famn 3, e, s o ffier o el = | e et
IarE <l BT & ST AT, I8 SR qea 1 w1 {99 sl % @y ged) four e, sue
Hi=ed 1 G T A1 HUT | TH HT FIANH TG 501 THT 8 2 | T Wifcash 4 & ; A0 a1 ] |

TV FIT F1 8 T [qUH 2 | TS ToihiT & 3N AhhT UURY 8 | ol T JHhT o
Ushen i fomr o3, @l 38 U  wne $8 faum a1 B wHg @Y | iE S
USThTT & e 3R aferar 1 A 481 81 wehd1 | 39! GHE ST 3197 foru srmevas a8 wwg
bl |

40. I 97 H1 9 R - o
(A) Hf&A (B) Fifee ==
(©) wE (D) gt
41, FcAE ez § W FH R R -
(A) TaEfy B) dfgdfy
(C) = afy (D) did g
42, A oE H W 2 -
(A) foremm (B) &5 #¥
(C) TETFY gAY (D) HHURI T
43, TfaRaa weei o e g9 s 2 -
(A) 3% (B)
(C) il (D) Hrm
44, Freafiian wedi i srem wsg 2 -
(A) BB (B) HI™A
(C) wifeas (D) Br
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. Wgd Qe T agd Fiet A gl TEaTd el 317 g Fpeht aR srearrd 1 s e & i A
e T R | v  TifeRe vreg & fergior b R 2 -

(A) TVTETeRR fasror (B) fafsea oftrmrerees femmm

(C) wffyaa wfmmrerass fasm (D) GehaaTEe fawre

. forfuerar v A IR FT IR R -

(A) I Fd T2 (B) T Fd TAd

(C) T dfgd I (D) framaras $d y=@
. g wra fore e Iee 3 | — 91 o T U vTeg 3

(A) @i (B) Hifcehl

(C) dTafHh (D) Hread

EaE

. IT 7eg T faem W 7 - we

(A) T (B) i

(C) (D) F

(A) IR (B) 3TER

(C) Fgw (D) W

Frafafaa meme 1 wget 1@ e v % I fafEn : (wee T 50-55 7F)

| 3R um: fe1 ok a fours soe 2w ¥ srfamriia 3 sreya snenfers vl 1 afe
A 2 | A IS 9 T 37 AN 2 A A2 IAh! g I, HIS T 3R 37 8 < A1 2 |
i 7z foreft =t 71 g | afg goen i e § of 3 A goe @ I A S il gue
et wi-+lt ¥; T gwehl gy ot 2, B gEehl SRR 2, HehH e U 3R G
TIH 2 | w9 ! =T, T2, Recar-fuetrn, 3ok s=1 it 30 =i Sl atg 91 HE,
ol ARRT 3 A9 I WY T TSR A1 1 WA | FH 2 7 e, e o I e
feram1 3 <@ ST 2, 3121 fre &1 78 | % T 4 31 a1 3 — vl wid e Tus v
ATt ForRH 1 Sar 3T et €1aR 1 Qe o 2 | 3 R o) Bl A A g o s e
TR 3T SRl W TS 2 | A YfA o S w1y & |

. e so wea # srfuria i argd smeafares sl 61 9fy w2 1 fefafiaa ot i
TEiferd 9g 3 fir=1 314 @ e A 2 -

(A) TCHTCHT & HEa-4 TG 7ol | (B) 31T grsft § |

(C)  SATHT-TRHTCH] & HH-Y T 1Al | (D) @Yol S |
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(13)

frerferfiad wreg o argarer W 2 -

(A) gf¥ (B) ¥

(C) Td (D) T

I A T E LRGN CoRe T A e R

(A) 3ty (B) @M wfasrd e

(C) ¥ bl (D) A e
ﬁﬂﬁﬁﬁﬁﬂ@ﬁfﬁ?%ﬁwmé @M
(A) ¥ (B) WHid S
(C) ==wr (D) &M

W 3R 9 fe7 TR T faumr sa gea o sifu=ra 3 3 sneicies sl =i iy
a1 2 |’ a9 | {@ifehd Wieg 1 faudia forg amm

(A) fayrit (B) faum

() fayr (D) faum

A THA & T Y 2 [ T ! O TR § FEe T AT ERT

(A) 3 Sopfd < Ja ATYg F | (B) ¥ Wahfd o T AY 5 |
(C) 3 WHld % Fad =y 7 T | (D) 3 ST Sfd o M a1 @ B |
freferfian sl 8 feureEs g @ -

(A) I w2 | (B) U HESMEE |

(C)  Th! 3T HAT AT H | (D) 3R ! Ig T2 T !
AT % ST o ] § @ s g 2 -

(A) BT A1 (B) Tz o

(C) fuTeHe as (D) HYF I

e G @, A1G AT 3 1 Fohe | a1l Haadl & -

(A) ©1& g EM (B) =i ot v

(C) TR hheht THTH Gl (D) =€ AT

“3TE T 41, T3 1 [ FAThIfa H1 3L 7 -

(A) TH-ggreht ferdfa At o | (B) qofd: s afe |

(C) ¥& AR & FEMA | (D) FfgdH foheg H9I |
TRt w1 < e <A g foftrl O o i fafa 2 -

(A) srer g Tl (B) arsreger fafy

(€) @ forfy (D) - Forrel
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(14) PL-2

SECTION -1
LANGUAGE -1
ENGLISH

There are 30 questions in all in this Section.
All questions are compulsory.

Choose the correct option which is not a technique for speaking skills :

(A) Reproduction (B) Question — Answers

(C) Role play (D) Model Reading

According to Thompson and Wyatt, how many objectives are of teaching rapid reading ?
(A) Three (B) Four

(C) Five (D) Six

Who was of the opinion that reading ability can be developed by reading books in solitude
with ease, interest and pleasure ?

(A) Menon and Palet (B) Robert Lado ..
(C) Rajgopalan (D) West %%
Oral reading is also known as : B
(A) Intensive reading (B) Silent reading

(C) Loud reading (D) Library reading

Checklist, Rating scale, Interview schedule and Anecdotal records are tools for :
(A) Summative Assessment (B) Informative Assessment

(C) Annual Assessment (D) Formative Assessment

Which of these is not a technique of evaluation ?

(A) Appropriateness (B) Effectiveness

(C) Imitation (D) Practicability

Check-list technique is used for evaluation :

(A) results, attendance, participation in games, sports.

(B) interest, attitudes and values of the students.

(C) of significant event and work performance of the students.
(D) None

Which one of these commissions and committees has not made recommendation to
encourage internal assessment through continuous and comprehensive evaluation ?

(A) Hartog Commitiee (B) Hunter Commission

(C) Mudaliar Commission (D) None

Which one of these 1s not objective of CCE ?

(A) To make the process of teaching and learning a teacher — centred activity.

(B) To make the process of teaching and leaming a learner — centred activity.

(C) To help develop cognitive, psychomotor and effective skills.

(D) To make evaluation an integral part of teaching — learning process.

Read the passage and answer the Question Nos. 40 to 44 :

India today presents a very mixed picture of hope and anguish of remarkable advances
and at the same time of mertia; of a new spirit and also the dead hand of the past and of
privileges; of an overall and growing unity and many disruptive tendencies. Withal there 1s
a great vitality and ferment in people’s minds and activities.

It is remarkable thing that a country and people rooted in this remote past, who have shown
so much resistance to change in the past; should now be marching forward rapidly and with
resolute steps.
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40. Choose the synonym for the word “vitality” :

(A) lethargy (B) torpidity

(C) energy (D) externality
41. Choose the antonym for the word “anguish’ :

(A) costacy (B) agony

(C) excruciation (D) affliction

42. Choose the correctly spelt word :

(A) Fermantation (B) Presantation
(C) Picturesque (D) Resoluation
: o

43. ‘Adverb’ for the word ‘disruptive’ will be : Ol

(A) disrupt (B) disruptively

(C) disruption (D) disrupter
44, Choose one word for “a tendency to do nothing or to remain unchanged’ :

(A) anguish (B) disruptive

(C) ferment (D) inertia

Read the passage and answer the Question Nos. 45 to 49 :

The rich can provide their children with all that money can buy : rich food; expensive
clothes, cars and every other imaginable comfort and luxury. But they simply cannot give
them what they need most — parental care and affection on a personal level for which there
13 no substitute in the whole world. These children who are brought up almost entirely by
hired attendants develop a twisted personality. Their rich, busy and well-bred parents are
one day shocked to find that their children have developed some of the traits of their own
attendants which are, to say the least, considerable less than well-bred.

45, ... and every other imaginable comfort and luxury. Here ‘imaginable’ 1s
(A) anoun (B) aconjunction
(C) anadjective (D) anadverb
46. Choose compound adjective from the phrase ‘well-bred parents’.
(A) well-parents (B) well-bred
(C)  well (D) bred

47.  Which one of these phrase has a determiner mn 1t ?
(A) But they simply cannot give.
(B) The rich can provide their children all they need.
(C) There 1s no substitute.
(D) Hired attendants develop twisted personality.

48. ‘These children who are brought up almost entirely by hired attendants develop a twisted
personality.”
Which tense is used in the above sentence ?
(A) Present perfect (B) Present continuous
(C) Present indefinite (D) Past indefinite

49.  Which of the following has the three degrees of the adjective in their correct form ?
(A) Simple, more simple, most simple (B) Rich, more rich, most rich
(C) Little, less, least (D) Expensive, expensiver, expensivest
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Choose the correct interrogative sentence :

(A) Had been it raining

for long ? (B) What been it had raining for long ?

(C) How had been it raining for long ? (D) Had it been raining for long ?

Choose the correct option to fill the blank in the sentence given below :

Admittance to him
(A) were refused
(C) are refused

by the guard.
(B) was refused
(D) will be refuse

‘So help me, Heaven ! he cried, ‘I will never steal again.’
Choose the correct mdirect speech of the above sentence :
(A) He called upon Heaven that I would never steal again.

(B) He called upon Heaven to witness his resolve never to steal again.

(C) He called upon Heaven to never steal again.
(D) He called upon Heaven to witness his resolve not to never steal again.

Choose the “Affricate’ sounds :

(A) [t d5)
(© [fv]

Phonetic symbol / transcr
(A) [ga'taf(o)n |
(C) | gn'ttes(o)n |

(B) |m,n|
D) 16,9]

iption for the word ‘Guttation” is :
(B) | ga'terlf(o)n
(D) | ga'ttors(o)n

PL-2

The fundamental order of listening, speaking, reading and writing should be followed:; it is

the general characteristic
(A) Principles of selecti

of ;
on (B) Principles of gradation

(C) Principles of habit formation (D) Follow the natural way

‘Leading from simple to complex” is used in the principles of :

(A) Gradation

(C) Controlled vocabulary

(B) Habit formation
(D) Follow the natural way

Which one of'these s a principle of “Translation cum Grammar’ method ?
(A) To teach English directly.
(B) To establish bond or a link between thought, expression, experience and language.
(C) The unit of teaching is a word not the sentences.

(D) The sentence is the

unit of teaching in this method.

Which method is a midway between the two old methods; (Translation cum Grammar
method and the Direct method) ?

(A) Inductive — Deductive method (B) Bilingual method

(C) Dr. Michael West’s

new method (D) Audio Lingual method

Which one of these is related to the ‘Inductive — Deductive method’ of teaching English ?

(A) Itisaslow procedu

re.

(B) This method discourages the students to be mentally active.

(C) Priority of reading.
(D) The sentence 1s the

unit of teaching in this method.

Which skill is the basis of good learning of the language ?

(A) Speaking skill
(C) Reinforcement skill

(B) Explaining skill
(D) Listening skill
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SECTION - 111
LANGUAGE - 11
ENGLISH
There are 30 questions in all n this Section.
All questions are compulsory.

‘Expression should be impressive’ is an imperative of

(A) Accuracy and correctness (B) Naturalness

(C) Measurement (D) Evaluation

‘Freedom on part of the speaker is essential” ......... 1s a rationale of
(A) Direct method (B)  Structural approach
(C) Communicative approach (D) Substitution approach

is an advantage of communicative approach.

(A) Listening (B) Speech ability

(C) Writing (D) Reading habits

Language has

(A) script (B) gesture

(C) feeling (D) sound

If a Bengali family lives in Delhi, the children in the family will learn in family and
from environment.

(A) Bengali, English (B) Bengali, Hindi

(C) Hindi, English (D) Hindi, Sanskrit

Evaluation i1s done on two basics

(A) cumulative (B) terminal

(C) sessional (D) formative and summative

The comprehensive evaluation involves

(A) assessment of answer books.

(B) performance in co-curricular activities.

(C) assessment of health habits, work habits, cleanliness and co-operation.
(D) All of the above

‘Class magazines’ is an example of
(A) assignment (B) project work
(C) writing test (D) speech test

One of the objectives of the remedial work is to

(A) highlight weak students.

(B) identify the cases who are lack in studies.

(C) spot the weak and punish them.

(D) make the weak students aware of their backwardness.
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Remedial teacher should keep a liasoning with the parents to

(A) ensure the weakness of their child.

(B) help in identifying the cause behind child’s lagging,

(C) work in same environment.

(D) rebuke the students. Ejﬁ%
Rl

(Prose passage Q. Nos. 71-75)

Almost the whole village stopped to watch the big boat being built at sometime or the other.
No one owned such a large boat or even worked on one. Perhaps they were jealous and that
was why no one had a good word for it. They did not want to believe, it would do well at
sea. But, they, in a way, were proud too. Building a big boat like this in their village was an
achievement,

Do you like to eat a pizza ? Do you prefer a hamburger ? The two questions can be combined
using

(A) and (B) or

(C) but (D) that

I am sure. It is true. The two sentences can be combined using
(A) so (B) than

(C) but (D) that

Many a man done this.

(A) s (B) has

(C) was (D) were

Gold and silver precious metals,

(A) is (B) has

(C) have (D) are

e no one had a word for it’ ......... The underlined word in the line from the passage
stands for

(A) the boat (B) the people

(C) sea (D) achievement

(Poem Passage Q. Nos. 76-8()

‘Weavers weaving at break of day,

Why do you weave a garment so gay ?

Blue as the wings of a halcyon wild,

We weave the robes of a new-born child.’

‘Blue as the wings of a halecyon wild.” The figure of speech used in the extract 1s
(A) alliteration (B) simile

(C) metaphor (D) assonance

The rhyme scheme in the stanza 1s
(A) aabb (B) bbaa
(C) abab (D) abba
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The plot of a story may be
(A) comic (B) tragic

C)  satiri D) all
(C) satiric (D) a wim
Dravid was the wall of our cricket team. Eﬁ’?
(A) Simile (B) Metaphor
(C) Personification (D) Rhyme
Inanimate objects and abstract notions are spoken of as having life and intelligence in
(A) metaphor (B) simile
(C) personification (D) plot
You be ashamed of yourself having made such a comment.
(A) may (B) should
(C) can (D) could
He chased the thief as far as he
(A) may (B) should
(C) can (D) could
The car seemed to have
(A) Dbeat the bush (B) tried to pin
(C) wvanished mnto thin air (D) boarded the wrong train
‘Drama’ originated in
(A) Greece (B) Rome
(C) Tlaly (D) England
An “octave’ 1s a stanza with lines.
(A) © (B)y 14
¢y 12 (D) 8
The twenty-six letters of alphabet have sound symbols.
(A) 20 (B) 24
(€ 4 (D) 45
The phonetic symbol of the underlined letter in the word *thin’ 1s
(A) o (B) ©
© 3 (D) d
The phonetic transcription of ‘lung’ is
(A) /lag/ (B) /long/
(C) /long/ (D) /lem/
The word having the sound of *ea” is
(A) pear (B) hire
(C) moor (D) roar
‘h’1sa sound.
(A) voiceless (B) wvoiced
(C) palatal (D) wvelar
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61.

62.

63.

64.

65.

66.

(449)

W©US - 111
HE - 11
mﬁmm:@ﬁfl
|qQ YT GHIYET: |
‘gpatafy: veeafeiRe T 6y 7
(A) SRl (B) dre-faarefafy:
(C) et (D) Frmfafy:

FYTHIIC FEAT Hed - T Hacamied ?

(A) & (B) SGraRuE
(C) s (D) "
srenferfgafetiy wommrdfafinte -

(A) wzmerfafy: (B) fstufafiy.

(C) TTEATHS -39 (D) Trfaa-arermy

“qEee; TerdTiad: famgamaRETST 3 et faed v 2

(A) SRR (B) wrsmerTfaed

(C) AT (D) =TS — Jurmied
Jrufiqa SR TiEdd T 6y 7

(A) o (B) Afem:

(C) T (D) ¥amE:

(A) TSI (B) veaafety:
(C) gl (D) TTETIEARIaTY:

https.//www.pygonline.com

PL-2

E4E

e


https://www.pyqonline.com/

PL-2 (45) C
67. “HoargaN 3fa shiget i e ¢
(A) ¥ad (B) feum
(C) &g (D) widEg

68. T HAE 9 fgw.” gid foem ¢

(A) Frevgam ®) framfig:
(C) foegorfarfa: (D) nemeRtaey
EEE
Gt
69. efeafEay s AR -
(A) e (B) guesy
(C) af-arficrEa=m (D) wfeefa:

70. “HIRITEHIT B e W 7
(A) ToAETH (B) fneorfas:.
(C) Rveorgmomy (D) FELTE

sreiforfigay smfsamarmaied T (71-75) ST -

3T S WHaany e | vaee 99 wyRaHan feaam: | Fe e ¢ WA i
ag o yartm: gfEm s | mEemmd, demmfie:, afveangrigTmerEt:,
FLCRACAHITRTd: $TEH: WEl: UPWadT: 4ai: oyl WRqad W=l g Hi=fig
TEA Fad-: | sgunt wa fifd: S sy = wfa srerss e |

TI.  TRAATAN gouat 7 fawfam: 7

GYRRLL (B) wHl

(C) et (D) el
72 Had:’ 39F F: ToA: ¢

(A) ¥ B) W

(€) 31 (D) #ag
73, AR o Herueg: ®: ¢

(A) B) T

(©) Hfer (D) 3
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74.

75.

T6.

T7.

78.

79.

80.

81.

(46)
[OET:" 394 h: THE: 7
(A) T5:HTTE: (B) feremma:
(C) deqevgaTy: (D) JrerftyTEEm:

"0t el SHfel: SFEATeR el et LTtk ~T1¢, fohg e 7

(A) TFICHHREHH (B) TUTEHHITHY
(OREEIPERUEC: (D) FhrHY
Fetferfer Teriem sMeTfied S: (76-80) T S
YT =ERE f9gr s ey wafey |

WY FueR s Ffer A - wo= afoe T ||

“qe TS §oad W e 7

(A) TETHH: (B) JHETHH:
(C) FoTTe: (D) YiedTeH:
IR, — T Fetel Feh1i e ferersag, fory 7

(A) I (B) @fetey
(C) o= (D) =TI

WY 3 b forg wifea 7

(A) Tfeersy (B) wfergm
(C) TIEHITE (D) 3Iwafersy
‘g e . Ued: 7

(A) e (B) <9
(C) = (D) Iq

A swifeata T 6 B 9 7

(A) IAEH (B) Il
(C) Z=aan (D) Jua
Fo (30) 3 wegwy wfnn Fiem forg ymaf< ¢

(A) ®iiferg (B) dfeerg
(C) TqEHfeTy (D) Swafes
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82, HTRTSRENTON i wsmeify waf= 7

(A) i (B) spf
(C) womfy (D) e
83, IS IR fohm ?
(A) i (B) #Us:
(€) g (D) T
84. o i Hfd ey frgrasigagar af< 7 e
. 150
(A) fawfa: (B) 3TTTEY
(C) g™ (D) T=e¥

85. WUT‘EE g STt waneed -

(A) FYH He: Higa: (B) FHH HE: ¥

(C) e we: firm: (D) Fv He: fir:
86. ¢d: UH: 3T ARG TN -

(A) <d: T 7o | (B) <d: TGHS: 7o |

(C) 9: TaFEH 37y | (D) 2 TEEE 37 |

87, “THdl B FEOI NG HHAT TG -

(A) 0 Fd g (B) el e 3544

(C) o 3w (D) 4 F1 3=
88. “furerh frea WU shIY ST ] | 30 GOpATIATG: HUA: -

(A) e T wpeafd | (B) Toieres: farsama wpeafd |

(C) foerss: farsdro wspeafa | (D) Forerh: firearq wpeafa |
89. Feferfaqarsy yg am oy 7

(A) TfwEned . fomfa | (B) fr: frmrmera 3 femaf= |

(C) off: Frymanyfq 1 fomf | (D) ofR: Frgeramedy = fomf= |
90. it T 7 TR | e rafd: Fofe |

(A) STCHAT STEHTH, (B) 3Teufd

(C) T (D) 3eH:
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(B)
(D)
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(©)
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(B)
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o B (A
K (T2 (O)
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JWVP’ (A)

A ©
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= Qg - 111
o WIS - 11
fueh
el 30 AT IATTeH!
WG YT HLT e TTTee |
61. “THICRRT @8 Wi TEet o e @ foran g -
(A) Fig@g (B) SR %
(C) TuEa (D) dfEari &g
62. HeT S Sl 7 |
(A) 3V A< (B) U4 W qUr<g
(C) 3 3TH<S IREEL
63. TG T qh! SERER 3T I7 9 39 g s 91 fired off -
(A) TfegRa (B) BUEHI I
(C) A= (D) wfta @
64. T 2w T WS J iR e w1 iger garer ety — wfenft wrhfy o fem =y
3 a1 fregor 1 kg U oA |
(A) STt (B) ==
(C) Farett (D) HTeTeh
65. g vgde, TuE gare s (fyer) gare, st (fafi) o1 femem amfaf |
(A) BUSBM (B) TegeY]
(C) feray (D) o7
66. T wEE opaTss i it g -
(A) e B) femmf
(C) T (D) TR
67. TSI S ST AT i 3R -
(A) g@E (B) =fEr
(C) Tuieft (D) %1
68. gﬁﬁa@wmlzomlzagﬁgmaﬁwma@—
(A) ¥R (B) W
(C) #W (D) wH=
69. e Afed fewrs mm anfefy -
(A) fewm (B) g fem
(C) T (D) @em
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70. SO R A9 TeaTs” §i qeue FLIRH AW oft forarera it foer fum o o
(A) Teu (B) fgam
(C) 3= (D) 9H7
[OFAD|
2t 2t vt garerfy < e fgar - (71 @1 75)

A 11 e e 3 fegf S Sg A T TR o | fe e aTe e
T B FANE 7 S Eig [ Ael ) 1R, SifE § | TeH 9 St $a7 ety | g fag
e et o et T o w3 A S v @ afes ey anfef | e aeR S < 52 e
e, SifE # 7% 912, TM 91, T 91, MR 91, Yeidrd u1e §E e | Wad U S s
wey, off TSt Hey U o wet I gv e snfEl | g werH @ fa wiig o | fea il
500 T e | 5 wftrg sen e ufEST Te T AR | [ Wl S Sete SR i g T
0 531 AR | T, FeT € e o G o e % Wit T § e e e
Ffefy | T o 3 o @iet 312 | wW @ g2l At anf wgfy @ s g At 9 o |
gsRt Hel § Teg 33 Aol ael) g # ufdsh srem ve feft sme | At A w3 § e
firern faam omres o= ang | faeh o €t aeere & foeht Sart @ faw ord Uorem o $ve 58 @i
T e ey AT, TR T A g ek 9 fer g e o | A Rt 3 e e
TSI A2 | ST8T G, 15T — W1 S TTel, ¥ehdl, 3[ell STT0 B1 i1 &1 Hel A 57 3778 | Sl 9
GATT ST G T $E TR & SR T AV el IR | PR S 1 gt g8 it amr @ ufe
Heal AR |

71, wfE gl S 3 31 -

(A) Hider wrer it Ter (B) IguNg Sl Hefl
(C) ToRL (D) S¥EL S el
72. IR Sl AR AT -
(A) d3H (B) durE #
(C) wH (D) FAHH
73. o 9fHg s ded ufEer ve a3 | fae § s v R -
(A) s (B) T EH
(C) ¥ 3m (D) & Tl
74, TR S areg A AR -
(A) =T (B) wfeaifiars
(C) e (D) =W
75, AT’ SR S AT AT -
(A) fadt o (B) fewmm@
(€) ==MHIH (D) §Fg
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23\ wfere vt garety s e foah : (76 @1 80)

AT AR e HAIE ! Al BT HS 7=,
aMo Guit HER A SAT0 G2 R |
et £ g W A T 7 o

afy e @ Hi ufEs d qege au |
At e T i A e 3 e W),
Tt gfrn B A o foreft 7 =g

S H I, 5 ° AE, A 5 q for e,
S IREY @ < H SArefor Sft ot T 96 |
gfiag o AsglHad gveh, fate d Simer,
<af T <fergf @ 57 ST 3w s |
T-ETT, FeeTT, e, Tfewa ant,
a3 dta dhma goter o e o oS |

76.  Teff widan S ITIH R -

(A) T S g (B) #Faw ST
(C) =AM (D) WFR ST

77. YR T S W 3R -
(A) i (B) Tt
(C) i (D) W

78. R i e fe i F seR g -
(A) &T% (B) G=<g
(C) I (D) dH1" g

Egm
i

79. hadt 9 o e foren fgu ot -
(A) 3T B Sff (B) &% @it
(C) fiei o it (D) T waw s

80. giagd®  gukfaed |
(A) wgfiEa, wegfied (B) W3HHa, SHHerd
(C) =hiwerr, wegfEd (D) ST, ST

81. A3 AN S e -
(A) dYeyd (B) $E@THUE
(C) T (D) IHTNT
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83.

84.

85.

86.

87.

88.

89.

90.
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gre @1 A’ foreht 9 3 -

(A) et fafy (B) 3wt fefy

(C) eaamrt fafy (D) 35 ferfu

feftrer @ s e 3= 3R -

(A) T (B) W

(C) Affast (D) msHd

s < ferfigoft 7 |

(A) 3V IEH<E (B) TS

(C) wpigd (D) s

il el o A S, T 1S W Tl 1 g it gum | F st o -
(A) T (B) T3

©) (D) Fem

SWICEE eI (S LS LR

(A) Toftar 3 wrEd (B) Tfrgfy o1 @ | mm
© T s D) whygE oM
e AR A Firg 3R

(A) 34U (B) T

(C) U*g (D) wrTaw

St faermar —

L. it o (i) faehs

2. wEf (i) g FET

3. HgI W (iii) g@m

4. THAWIEARY (v) &6
(A) 1(v) 2(i) 3G) 40
(B) 1() 2Gi) 3(i) 4(v)
(©) 1G)  2(i) 3Gi) 4(iv)
(D) 1(i) 2Gi) 3(v) 4()

Stfe =i ¢ 8 He) St o wa 7 gel 38 et 3e-

(A) AR (B) =

(C) et (D) fw=

S gg o ey feamy o e /nedter @ o) gf -
(A) TR (B) S WY
(©) =g (D) ferrrdt =g
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61.

62.

63.

64.

66.

67.

68.

(57)
¥ 111
g 11
et
fer iz N d8 30 yas 96 |
A'S YHE d96 wgdl I3 |
Jaft SR s T AT
(A) Hles3 (B) yIigas
(C) AIBIT (D) MfegdasT
“Wr3 g §T 3T I, ¥ I 997 wigag aft e § 1 - Ga3 qus fan feees v 9
(A) 3. J9dta3 fifw (B) Y. ydsfrw
(C) 7579w (D) 3. 73 fiw
far niraan foyree o, Tasas BF 299 St nisaas aga mede J
(A) yIsdt (B) uBfey3
(C) 3zo feut (D) wiafsdt

UE- YRS ¥ HUEs I YIHS S YFias aus I ;

(A) US-YA3R T By Set wfpya & Iffer |

(B) Us-un3a 2" ydHe Aaadt fiffemr e arff ser g g
(C) US-YA3ITHeg SIS qISTIHR I= |

(D) US-YHIE T HS TraT g |

Hiewndt fedt sm Hefas
(A) T Hadt wifem (B) TrH
(C) 33"t fafanf (D) »HTT & UEMT3HA sHe

‘g i 199 Hed fou3, T 994, YS'ydea I96 3 METTE 3901 I Bel W36 o 83
T T 1 a3 qas g wifeus © fan g3 o fagg a9e7 3 :

(A) w35 e A (B) wafeas v gz

(C) g9 U3 (D) VY& AHadl = fAUT3

HES nifmmud wivft 3 it 978 & A €91 378 RHY RaeT J
(A) ST I IS | (B) WEE-MJY AHS |
(C) THS-FSSATS &YGdadd | (D) H3IH &9 #aee 39 |

29 fordt Ags Aofed FUa J
(A) = (B) =&t
(C) vae (D) &aH
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69. HEGE Tt ATIHA St & < :
(A) Tt fifimr (B) Hfezaas
(C) A9gd (D) afe mas

70. WA i ylafonr wigng Wetae {346 ¥ fau3 136 e yamug Hefa3 75
(A) ¥, 3=, ferr-eng

(B) Iu, fa'3, Ay
(C) Trfinr Gam, fiys wigsz, fesaw ufasass .
(D) five, Su, dae E}%

(71-75) I B8 Y gug d A 89d 71 3 752 @39 128

Ut Afswmarg et foft-sar3 =7 Rfenmrara &t J, frm 377 9% 84 fend aaemed 76 1 feg €9
IS AfgnmaTg J faag i »ieg {993 99, 3 AU, I8 84 @ Hasy ARl 87 J | ferdl uge
et feagr 3odt I I HETT T | §3-273 « Todu fon Afenrarg 3 ff wrew w3e ISt /| Er-ner
Ht=s, 5 qaut dt 4 w3 yaBuarg <t g2 for rfgwmarg &t sfovme T | wias yay & Uamt bt
fer Afenmara § fean "9 et T | &I Afgnra Jameft Afgnmamg € »id fear-fear amuer 3 |
7. ‘g3 Tieadtrgey:

(A) g3 (B) @ty

(C) fanrer (D) fegar

72, wdEd A Il HEE I :
(A) HIUB (B) Wa=e
(C) uad (D) yItua

73. ‘5@ mue o Af ggwEER e J
(A) 9w, Tl (B) FHT, 35"
(C) 3w, fonmaas (D) FH,

74. ‘G ofeddfineed:

(A) ygg" (B) wuT
(C) & (D) &

75, ‘=BIwm wew o fersd f8a d .
(A) 837 (B) T3
(C) THAL (D) #3995
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(39

(76-80) I3 fay Tfe-de S UF IF=5 599 76 T80 € 37 o8 :-

76.

77.

8.

79.

80.

81.

82.

e yBesT €13 & JUNTS,
Wd B U IIHR |

He i 3y T 3 i,
J&fIsedafte iz we |

45 ARsd AF fREF He |
R afe-deTraed:

(A) g
(C) 3

Gag arfe-de g afrand .

(A) Higar
(C) Htg3HTH

Gaz afe-ge T afegyd:
(A) famr
(C) &

UBZHT HEC ST WIE J
(A) ¥3
(©) Hftzaghr

‘IS e T MIg I ;
(A) IHS
(C) Ifgmmar

(B)
(D)

(B)
(D)

(B)
(D)

(B)
(D)

(B)
(D)

I
I8

(A) I
(C) Yy Jer

(B)
(D)

YHl g9
Hg<e

a1 B9 &7 ZeaH! 99T SLBT I — W= T HA M T
(A) YT N3 36 TS5 &' dH THI 95 |

(B) W35wd5 8 oaH THI 955" |
(C) I IIE S aH I 9T |

(D) XT3 W35 436 3 a7 oW fHI 95T |
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(A) & (B) 7
C) B (D) §

‘Or% fHoss i, fer st um 3 fopr | Tt ge3g a3 WA T

(A) fimag=e (B) AWdsTR
(C) YHERIITF (D) A9aE I
ATt T O T @ < 39919 T ¢

(A) SI37, K, fetfanrm | (B) &M, fafanr, a3 | Q%IE
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fore 3 Barg f famH J

(A) HEEwZad (B) WY nwEad
(C) »IEwEag (D) WG wEIg
U g2 JIHG T T

(A) ITEAT T (B) fadgaatar
(C) TIaT = (D) farrargtar
Gt erufas ardlaa J

(A) FIIHS (B) ¥&W4

(C) IgzBa 2+ (D) IBHE
A 3T, gafamr ¥ |

feg Haraa gafamr ¥ |

I IS, N T o |

fage &3t U |

Gaz Asgt fan g d Goaas 05

(A) <97 (B) <ust

(C) & (D) a3

Y35 3913 ¥ T 99 yas fagz Ehia tn aaer 9
(A) wragHd (B) AEWTH
(C) oHfex (D) HoHIS T
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61.

62.

63.

04.

66.

67.

(61)
S — 111
L - I
dovRicl

L ASHL 5EL 30 WAL 8.

ER8 UHAL el Ml 53 (vl 5.

luigul Ai2s, Wel-Arug e, dilsud el aswiealBis ugltdl sul Sl suddl wylaoil
£ 9

(A) Al Slaed (B) $u- 5laey

(C) i Slaley (D) @i Slaey

Heuls sl ulsu s ¢
(A) woulus, (B) st Mz .
(C) dqazll ubus. (D) st reisaadl Wea s,

(Fotettens WAL HAlEL§R 539 HI2 Bl UsRAL WAl RUAL SRAML 2 6 ¢

(A) 25014 (B) tllcuetzl uzll
(C) ildagyoRicHs usl (D) <s(E1s uall

Al 58 52002L Riats 2Rd 5212l 2] ¢
(A) i HEUls (B) s HRUIsA
() wlaw 542l (D) oifis 52012l

Al Al 2L AR o Ul
(A) 5551 2 AR st (B) il 24 lEassel 3L
(C) sl oL 24 Gl (D) GuRlsd otall

val(m G22yR0L WML slelle dlg-2 el sul wtaanl AL Al 2l ¢
(A) =l (B) 2z
(C) &k (D) =i0LllAl

A2l 451 5 (et 1 65 9

(A)  sled(151s slpizl 2 udealle Sldl A=A,
(B) oL [R1ztsHl A -l s éig a3l .
(C) UL [R1aisHL HeAlllstie| st a3l -2l

(D) cUEiets Frienel <l «b .
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68.

69.

70.

(62) PL-2

HIMMIAL WA RASAL GLEL @EEIL ULl

(i) oy (i) ot 2 Hgl
(ii)) [Aucie (iv) Gl
(A) (i) (B) (i) @ (ii)
(C) (i) @4 (iv) (D) (iv)
OfA0]
(lats vadls g2l Bl weaisn 56 ugRell sl s B ¢ BEF
(A) [=lzwl (B) Uslerz
(C) #HHMES (D) GuRls ol
larriell wiggg AsRAAL 2L
(A) sl 2L 534l (B) @Ml A4¢520L A2 AR,
(C) A uAUlr £l 5, (D) @il oua g el WL S,

Al AU IEULAL AL W { VAL TT AL T3AL el DAL :

UL 53 A 53t 2 HAsEl Belslet G e At L 4L 2l (AL Hidl dsls 2u

WA S, Mg Gl 25, el Figedl, ¢lvnd wgeel v ol drdsi
Rl el HEZ S AR A oAl Y 85, hell 2] gLttt URRAM el HeryRuAL ML
=l 240481 20U ALl A,

7.

T2.

73.

Eetstet AL Hiedl d=15 ARG SIA AWTAIRA 1A 9
(A) UM (B) U
(C) i (D) el

25, [yl (812 2 ddsiied el Sl 3L 2Ll HIZ $HAUL eI =24 ot Yl
£ 9

(A) [t ellvn (B) 6Ll 5%

(C) A% (D) gulud

“HSIYIH LUCEHL 5L HHIUE 9
(A) g6 UHA (B) el
(C) doR™ (D) sHuRY
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Al2L AU Bl AR UL T4 2l T5AL Srello A0
2l 2155 2l esul gls3l ;
& Yo -2 A gHgHAL [Aasui glsil.
2o 220} 2 2, o AL URUIM B,
sldR & sl Ru HesHl ElsEl.

74, gl el 5L ATL A 9

(A) &elidl BesHl (B) Rl »esul
(C) &l »easul (D) ARl HesHl
ENEETE, EEEEE
75, ke %L%jbﬁ-{ Loyl | -
(A) b B) =Rl e
(C) jusledl (D) sle (oL el
76.  slePMQL e, A, 2L, M A GUAAL AHA 2 581 ¢
(A) 3su (B) uddIm
(C) [Rame (D) Bl

77, “Geladl Aol Wisdl 42l dsl Buuldamel sy 6 7
(A) Gdladl (B) ®iludl
(C) Ml (D)

78, SRl 5E151 UHIA ARD AUUHL A5 RAL USE UL
(A) 34 (B) Gunl
(C) Gelau (D) <ldzs

79, GANMUMLOL ALl UCEIH Ao SIM SRell UeL 8 séelly !
(A) [Qaimve (B) <A
(C) Adws (D) AdAH

80, A2l il izl eleusio s 2orAL
(A) U Yt (B)  HERIY AW §9R ELEMLLYEL L.
(€)  llER HeREY HUOMEL L, (D) otHl = il 551 el

81, HlRGL-SHL MELAL ALNS WA LR 526 UEHILN S 55
(A) 5000 2U¢EL (B) 3000 Q€L

(C) 2000 21061 (D) 1000 Ul
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82.

83.

84.

86.

87.

88.

89.

90.

(64)
% Al 15 GERL A D15 [0, o] SR el 53 Al 5 ¢
(A) AUz (B)  iysel s
(C) Hga s (D) s ey

‘§ sl IRt Rl gRIASIL AUsuzUAL UL USRALES ¢

(A) s (B) t: URs
(C) sdR (D) s+

el (et (5301) AL (Ao U ool
(A) L L, o, (B) ™,

7

(€) -, M2 (D) A,

ﬁz’ ,§_'z

st s10{l 25l v sl AL (L 2 HUO0AL

(A) sd (B) swil

(C) usl (D) mim
e

B 5L R — AU 58 [FA & 7

(A) [scdlul (B) il

(C) UMl (D) 58l

Urgmiall Yo 2zl 2lsRIAEL 0L 53 UOEL s £ 1
(A) dedd (B) dgMd
(C) & (D) “Ruicll
“Sl2e 2106 6 euHiEl 2L S ¢

(A) sl (B) i)
(C) wRoll D) el

[Rerelleiimi dsulHs 2aE0 Fsrudal Hiz 58 Qb ugld @ Gudipll ol ek & 9
(A) el gld (B) aguAdl wsld
(€) AR ugld (D) <ol ugld

A2zl 5 Had el Gaeriat 4l ¢

(A) U5 (B) 208514l
(C) ezl (D) sloj by
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3=

EiE .
S SECTION-IV / @Ug — IV

In this Section, there are 2 sub-sections i.e. IV(a) Mathematics and Science and
IV(b) Social Studies. Both the sub-sections consist of 60 Multiple Choice Questions each.

The candidate has to choose either 1V(a) Mathematics and Science OR IV(b) Social
Studies as selected in the Online Application Form and answer all the 60 questions.

39 @g | g 37Eve HYT 1V(a) v qen f&asm wd 1V(b) WMt Hemeq & | gH1 STEvel &
T # 60 Fgfaela T 2 |

qiereff &1 1V (a) Tifvra aen fa@m 319a1 1V(b) At 16aeW, fe! 999 SAemE A1ded -7 |
foman 2, o @ foreft wah STEve 1 91 2 va et 60 Te FT ST E |

SECTION-IV(a) / @UE - [V(a)
MATHEMATICS AND SCIENCE / TifUrd @elt fam

There are 60 questions in all in this section. The candidates who have selected this subject
must answer all the questions,

30 @ve 1 %d 60 W 7 | f srvaflai 3 gw fawy o1 =9 foran 2 372 @it wod s arfemd 2

91. The mode value of a series is :

(A) Intermediate value (B) Most frequency value
(C) Minimum frequency value (D) Marginal value

fepeft 2ot o1 g Qe B 2

(A) T e (B) T SREAT oo

(C) FTH TR o (D) T god

92. The coordinates of a point on the X-axis are :

(A) (2,3) (B) (0,2)
(C) (2,0 O (LY
X-31e7 T fera formg o fdamen €«
(A) (2,3) (B) (0,2)
(€©) (2,0 (D) (1.1
93. The probability of having 53 Tuesdays in an ordinary year is :
I 2
(A) 37 B) 3
3 4
© 3 D) 37
TS TG 99 § 53 TR §1H hl ATehef 2 -
I 2
(A) 7 (B) 3
3 4
© 3 D) 3
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94,

95.

96.

97.

(66)

Which of the following is a teaching aid of Mathematics ?

(A) Napier strips (B) Logarithmic table
(C)  Geometry box (D) All of these

e 5 9 ifora e &t wares amwf 2 -

(A) TR g (B) AgER A
(C) SaTTHTd Siad (D) 3@t

Which of the following Mathematical statement is true ?

(A) Evaluation = Measurement + Judgement

(B) Evaluation = Measurement — Judgement

(C) Evaluation = Judgement — Measurement

(D) Evaluation = Measurement + Judgement

faidsn o i sm g ¢

(A) eI =1 + fofa (B) HeiA = ATH - iy
(C) TegiA = v - (D) Hediehd = AT + faofg

Which of the following is not an Indian Mathematician ?

(A) Ramanujan (B) Brahmagupta
(C) Aryabhatta (D) Pythagoras
= 5 9 i R aftras @ E ¢

(A) THTLSH (B) &

(C) g (D) YT

Which of the following is not the type of cognitive objective in Mathematics teaching ?

(A) Knowledge (B) Understand

(C) Skills (D) Application

FreferRad | 9 @1 T fia e § H3ATeRs 3¢90 1 UF YHR A 8 7
(A) M (B) FEeEiy

(C) hiwe (D) ST
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98.

99.

100.

lﬂlo

(67)
Which of the following is not a method of Evaluation of teaching Mathematics ?
(A) Supervision
(B) Interview
(C) Teaching model created by student
(D) Dictation
ot 8 i o o Rveen 3 e o T 2 7
(A) e (B) WI&ThI
(C) Bl g aAm fgmaies (D) yfoer@

Mathematical statement whose truth has been proved is called :

(A) Theorem (B) Axiom

(C) Conjecture (D) Postulates

TfvTetar she foreeht Tean fag F & M8 2, FEemar 2 : o
(A) U (B) rfifzd 3t
(C) et (D) rfyumom

Main objective of Geometry teaching is :

(A) To teach the use and measurement of mathematical tools.
(B) To develop creative imagination in student.

(C) To develop the power of object transmission in the student.
(D) All of these

T fSregor <61 v 3gva 2 -

(A) IO TSRO & WA Ua HI9H T T4 HIAT |

(B) B3l U TN el S1ith %1 ferehTd T |

(C) BTl § aq ST VT 1 Tk e |

(D) @ wsh

“Child is able to Recall definition of Rectangle.” This statement shows which learning
objective ?

(A) Understanding (B) Analysis

(C) Knowledge (D) Evaluation

“HTTh 71T shi RIS T TeATHWT L G |7 98 99 ®HF § e 3278 51 vefila
FATE ?

(A) FFaEIY (B) fewerym

(C) TH (D) HeATehA
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103.

104.

(68) PL-2

A child is able to construct a triangle on the basis of given measurement. Which main
objective fulfill through this activity ?

(A) Receiving (B) Responding

(C) Valuing (D) Skill

T STeA G T WY % SR T e Brpel Y o1 o2 aTar 2 | srereh o1 39 fafafy g e
T e 1 fd 2l 2 7

(A) T (B) NI

(€) Heo (D) S

Children with strong intellect do not have qualities :

(A) They are more curious. Qﬁ"%
(B) Their area of interest are broader. =
(C) They arc emotionally unstable.

(D) The knowledge of reasoning is visible from young age.

TR §fg ATt aretent 1§ I 17 el 2 E -

(A) 3 sfern fawmgad € |

(B) ekl & 1 &9 SATIF B2 |

(C) 3 STeTh HaTieweh Y & UK A ¢ |

(D) 3T 7 e T T4 Ze=R Fa1 2 |

If 30+ 8) = 27Cx* 1) then the value of x is :

(A) 0 (B) 1
< 2 (D) 3
qﬁ3{.t+ﬁ]=2'?(1x+l]g’[,aﬁquﬂm%:

(A) 0 (B) 1
C) 2 (D) 3

I 1
. Ifx +y="7and x> + y> = 25, then the value of (T + ;} is

[

,
(A) B) 33

|~ ]

(€)

D) 5
_ s 11
Elﬁx*:y=?3ﬂt.x~+y~=2563f,Fﬁ(?fﬂﬂ‘:ﬂ?%:
7

25

[ ]

12
A = B) 33
N !
© 3 D) T

https.//www.pygonline.com


https://www.pyqonline.com/

PL-2 (69)

106. A factor of the expression x* — 2x + 1 is :

(A) x—I (B) x+1
(C) x+2 (D) x-2
IH 1 - 2x + | F T PHEVE @ :
(A) x-1 (B) x+1
(C) x+2 (D) x-2
107. The solution of the equation 2 + L =01s:
Ix-4 2x-6
(A) 0 (B) 1
(©) 3 (D) 2
2 2 i
J‘:mchwn3.~.‘—4q'LZ.\'—f&:Ung%: %ﬁ%
(A) 0 (B) 1
(C) 3 (D) 2

3
V8 100 3 .
108. — =.(— x3&/125isequalto:

Jie V49
.
(A) 7 B)
4 1
© 3 D) 7
Y8 oo ,
—_— %3125 S F
;
(A) 7 (B) 3
4 |
© 3 D) 3

: : 3 -
109. The simple interest on a sum of money for 5 years becomes 3 of the principal, then the

rate of simple interest will be :
(A) 10% (B) 8%
) 12% (D) 14%

%mwsﬁwmwmwmw% T B, T HIRY S %7 g -

(A) 10% (B) 8%
(C) 12% (D) 14%
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110.

111,

112.

113.

(70) PL-2
If the loss caused by selling an article for ¥ 560 is ¥ 50 more than the profit made by
selling it for X 720, then the cost price of the article is :
(A) 665 (B) Rol5
(C) %600 (D) %620
afe foref) awq 1 7 560 1 5= @ g€ @1, T 720 9 o197 9 gU AW ¥ T 50 Y 1, @ awg
FATA L -
(A) %665 (B) %615
(€) 600 (D) %620

If the cost of 5 bananas and 4 apples is equal to the cost of 3 bananas and 7 apples, then
the ratio of the prices of a banana and an apple will be :

(A) 1:4 (B) 3:2
(C) 4:3 (D) 3:5

afe 5 el AT 4 WSl 1 God 3 Hicl IUT 7 Hal % qod o S &1, 1 T el 91 T 89 &
el i1 A B :

(A) 1:4 (B) 3:2 4

(C) 4:3 (D) 3:5 Eﬁﬁ

If 75 is added to 75% of a number, the same number is obtained, then that number is :

(A) 300 (B) 270
(C) 250 (D) 225
afe Toret T@T % 75% U 75 TS 98] HE&dT WA 2 A0, 91 9 T2
(A) 300 (B) 270
(C) 250 (D) 225

The present population of a village is 1,30,910. If in the previous years there is an increase
of 6%, a decrease of 5%, an increase of 4% respectively, then the population of 3 years
ago was

(A) 1,30,000 (B) 1,10,000

(C) 1,25,000 (D) 1,15,000

T T 1 GAEH SFAEE 1,30,910 3 | Afe ma 7w § wmwwr: 6% 6 afg, 5% Hwi, 4% 6
3fg g8 &1, @ 3 99 & i SEE ot

(A) 1,30,000 (B) 1,10,000

(C) 1,25,000 (D) 115,000
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114. In the given figure, the lines XY and MN intersect at point O. If ZPOY = 90° and
a:b=2:3, then the value of Zc will be :

ip
M
d
b
— ( >
C
N
(A) 90° (B) 126°
(C) 144° (D) 150°

el 7RI T 9 T XY a91 MN faig O W wfeaie &l 3 136 ZPOY = 90° 3fRa:b=2:3
&, al L %1 TH & -

Lp
M
d
b @@
€ > =EE
X ( Y
C
N
(A) 90° (B) 126°
(C) 144° (D) 150°

115. If all the three sides of one triangle are equal to the corresponding three sides of another
triangle, then the two triangles are :

(A) Perpendicular (B) Congruent

(C) Parallel (D) None of these

7fe U Pyt bt i1 q=ITe, gE Bryst ot o it et % SUeR &, o gFl Pye Ee @
(A) owEq (B) waiTEm

(C) Fu® (D) TH & g TE
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119,

120.

(72) PL-2
The length of a chord at a distance of 6 cm from the center of a circle of radius 10 cm is :
(A) 12Zcm (B) l4cm
© 18em (D) 16cm
10 §=Htet s ot 9 o %3 4 6 §<ddie gt m fem e i ders 2 -
(A) 129 (B) 143
(C) 18 @t (D) 169
If the perimeter of an equilateral triangle is 48 cm, then its arca will be :
(A) 64\/5 cm? (B) 55 \6 cm?
(O) 32\)6 cm? (D) None of these
af foreht waTg g =61 aftamd 48 Hfiet &1, 1 38eT &amhe 3
(A) 643 @i @ (B) 55472 i %’ﬁ‘?
(C) 3243 o &t (D) T8 © g TE -

If the lengths of the diagonals of a rhombus are 10 cm and 24 cm, then its perimeter will
be:

(A) 34cm (B) 68cm
(C) 52c¢m (D) 56c¢m
afe, v T st o famvit i dargar 10 T it 24 S 2, 7t 3w it g
(A) 345t (B) 68 4
(C) 52 (D) 56 T

A room is 12 metres long, 9 metres wide and 8 metres high, What is the longest rod that
can be placed in it ?

(A) 29 metre (B) 17 metre

(C) 15 metre (D) 21 metre

T FHAU 12 Hiet Tr, 9 et Ftgr g § MR F1 2 | 39H 7€ A 92 Tt ot g @t o
Tl g ?

(A) 29Tt (B) 174

(C) 15 (D) 214

The main objective of tabulation is :

(A) Presenting the data on the basis of their characteristics.
(B) Presenting the data in a systematic manner.

(C) Presenting complex facts in simple form,

(D) All of these

HRUIEH 1 TF 3279 ¢ -

(A) FWah! &I I FasITa1ati & YR T TRgd B |

(B) UHHI %! HHEG Haed €9 H T=Gd F |

(C) st a2 i oiet ¥ § e T |

(D) A@f
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121.

122.

123.

124.

(73)

In which group the unicellular, Eukaryotic organisms are included ?

(A) Monera (B) Protista
(C) Fungi (D) Plantae
forg wgg 7 U IR, ghiwEees Sta afrfoa R sma 8 2
(A) HHT (B) difewr
(C) w=T (D) Wi

After fertilization, a mature and developed ovary is known as —
(A) Seed (B) Endosperm

(C) Fruit (D) Embryo

= % uvar, v faesfia o aftaea aveTer 1 #ad & -

(A) (B) wwgerd

(C) e (D) ¥

Which one is not necessary for photosynthesis ?

(A) Sunlight (B) Carbon dioxide

(C) Chlorophyll (D) Oxygen %’ﬁ‘?
JRTIETATV % 70 T STava TE 2 7 -
(A) g1 9Hm (B) e SEHTFEE

(C) el (D) aTTedtsH

During respiration in plants the breakdown of glucose to Pyruvic acid is called -

(A) Kreb’s cycle (B) Calvin cycle

(C) Glycolysis (D) Fermentation

dted} & vere o SN TSt Sl TR vt # farere R § -
(A) eH = (B) foad =%

(C) TRHEAGH (D) fervem

5. Who first described Golgi apparatus ?

(A) Robert Hooke (B) Robert Brown
(C) Camilio Golgi (D) Lecuwenhock
g Tiiestt 3ushv &1 e aftfa ferar 2

(A) T EH (B) T S
(C) et et (D) T
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126.

127.

128.

129.

130.

(74)
Which bacterium causes “Whooping Cough’ disease in human ?
(A) Bordetella pertussis (B) Corynebacterium diphtheriae
(C) Mycobacterium leprae (D) Neisseria gonorrhoeae
i B i) & aFe 7 el @ AT 7
(A) aREien T (B) wRiaaay fewerdan

(C) TEHNFINET T (D) i THfET

Which type of sweat glands are present in human skin ?

(A) Apocrine (B) Holocrine

(C) Ecerine (D) All of these

e o 8 e ufyal S @ s g € 7

(A) TTshIE (B) BIeishre ,
[EaE

(C) T (D) @@t 3

Disease caused by deficiency of Vitamin-D (Calciterol) 1s :

(A) Night-blindness (B) Beri-Beri
(C) Scurvy (D) Rickets
faeTfim -2 (Sfeafetar) < =i & 2 aren i 2
(A) T (B) sf-s@
(C) wdf (D) fehe

In which animal asexual reproduction occurs by budding ?

(A) Amoeba (B) Hydra

(C) Plasmodium (D) Leishmania
S § SRt § Yoo gRI AT 54 211 8 7

(A) s (B) ®rEgT

(C) wir=Hifeam (D) e
Which hormone controls maturation of egg in ovary ?
(A) FSH (B) TSH

(C) ADH (D) GH

Fid |1 g 3T § 3721] o uftaead 1 b w2 7
(A) FSH (B) TSH

(C) ADH (D) GH
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131.

132.

133.

134.

(75)
Example of sexually transmitted discase is -
(A) TB. (B) Cancer
(C) Gonorrhoea (D) Pneumonia
I TN THT T 3SR & —
(A) @t (B) +8
(C) e (D) =
The example of Kharif crop is —
(A) Gram (B) Pea
(C) Maize (D) Linseed
i ) HEe H IZE 2 —
(A) = (B) HX
(C) TFH (D) 3rerEh
Which of the following is the oldest teaching method ?
(A) Reminiscences method (B) Evaluation method
(C) Projective method (D)  Anecdote method
freferfiga o & o ot ge@ v e fafu 2 2

- (DEO]

(A) wgf faft (B) WA fafyr a4
(C) wamv fafy (D) HaF! fafy

Meaning of comprehensive evaluation in continuous and comprehensive evaluation —
(A) Evaluation of educational field

(B) Evaluation of co-educational field

(C) Evaluation of educational and co-educational field

(D) Evaluation of all subjects

HAd TG ST Jolioh B ST Yo &1 aed 2 —

(A) f¥e & =1 gt

(B) TE-Siarh &= &l g

(C) e 1a we -t &7 =1 qeie

(D) @it ferwari =1 qe—rTeRA

. Which teaching aids are not included in the visual equipment ?

(A) Projector (B) Film strip

(C) Poster (D) Gramophone
w1 =t R -wgrae aml §99-3usRtr § wieie 78 2 ¢
(A) NER (B) frem firw

(C) TR (D) UHEH
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136. A force F is acting on arca A. If the force is double and the area is halved, the resultant
pressure will be of the nitial pressure :
(A) half (B) double
(C) one-fourth (D) four times
T o1 F el &9 A T @1 2 | 3G a9 B G U7 & B A R G, d uom g
YRR 2Te o1 &N :

(A) 3 (B) I
(C) TH-HE (D) =V

137. A wooden spoon is dipped in a cup of ice-cream. Its other end
(A) becomes cold by the process of convection.
(B) becomes cold by the process of radiation.
(C) becomes cold by the process of conduction.
(D) does not become cold.
T 1 U THF T AN b W § ZHAT ST 2 | 361 o
(A) Haa Ufshar o SR 3T & O |
(B) faferuor wfsman 3 swor 321 81 o |
(C) =TeIA fhaT o HIUT 37 & S |
(D) 31 7E & | OP0)

138. Image formed by a plane mirror is :
(A) wvirtual, behind the mirror and enlarged.
(B) virtual, behind the mirror and of the same size as the object.
(C) real, at the surface of the mirror and enlarged.
(D) real, behind the mirror and of the same size as the object.

Hudel g4 g 4T T vfafas A R

(A) AT, v & e e et

(B) et adw & g qur fie & s & s
(C) arEferes, o % ysg A smafia

(D) arefaes, I = i g e o argst & FUe

139. The limit of audibility for healthy human is :

(A) 10 Hz to 20000 Hz (B) 10 Hz to 2000 Hz
(C) 20 Hz to 20000 Hz (D) 20 Hz to 200000 Hz
Y TS h {oTu Seadl i1 Bl 2 -

(A) 10 Hz ¥ 20000 Hz (B) 10 Hz ¥ 2000 Hz
(C) 20 Hz ¥ 20000 Hz (D) 20 Hz ¥ 200000 Hz
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140.

141.

142,

143.

Full name of LED is :

(A) Light Emitting Doll
(C) Light Emitting Drum
LED T 931 779 211 2 :
(A) ToHTY Icah 2
(C) TohTsl 3cEieh g0

Electric-cell converts

(D)

(B)

(77

Light Emitting Dynamo
Light Emitting Diode

RIS Ik ST
TR S TS

(A) mechanical energy into electric energy.

(B) electric energy into mechanical energy.

(C) chemical energy into electric energy.

(D) electric energy into sound energy.

ferege—eret witafda sear 2

(A) i S i foga St o

(B)

Foepe 3t 1 fen o

(C) T e # faga Ft 8 (D) foga e it wfa Fai o

Order of planets according to distance from the Sun is :

(A) Mercury, Venus, Mars, Earth
(B) Venus, Mercury, Earth, Mars
(C) Mercury, Venus, Earth, Mars
(D) Mercury, Earth, Venus, Mars

4 8 o IR IE FTHTR

(A) T4, I, 71, Jet
(C) 4, I, 7f, T

(B)

32

6, g4, G, T

(D) 9, get, W, B

Which of the following is not a criteria of a good test ?

(A) Reliability
(C) Objectivity

(A) Tovagftaa
(C) agfmaar

(B)

Validity

(D) Subjectivity
freferfiga § & @ 91 U 378 T S 9T9EE T8 8 7

(B)

e

(D) SAfFIRHRAT
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144,

146.

147.

148,

149.

150.

(78) PL-2
The process used in the separation of rice from paddy stalks is —
(A) Hand picking (B) Threshing
(O Wilmow@ng . (D) _Sicving
T 1 g Sfeal & Tae o quaER T W 2 -
(A) & =3 (B)
(C) frman (D) =TeH
. One of the steps used in the process of formation of common salt from sea-water is —
(A) Distillation (B) Condensation
(C) Vaporisation (D) Filtration
TA! ST § L T S o WY 5 Y9 Uh TG B -
(A) 3frEad (B) #uaH
(C) amvH (D) T

The chemical substance present in calamine solution that is applied on the skin to
neutralise the eftect of ant bite 1s —

(A) Calcium carbonate (B) Zinc carbonate

(C) Sodium carbonate (D) Sodium hydroxide

Hid} % e & U9TE H1 I HH F A0, == W A I arel hemrea e § ufie
a2 -

(A) hfcaan HEe (B) fis @2

(C) wifgam Hmefe (D) Hifam grRgemTE
The oxide responsible for acid-rain is —

(A) H,0 (B) CO )
(€) SO, (D) €O, E f
IFA-a] & feTu STt 3TiaEs 2 - '
(A) H,0 (B)y CO

() S0, (D) CO,

The pair of thermosetting plastic is —

(A) Polythene, PVC (B) Polythene, Melamine
(O Bakc]itc, PVC (D) Bakelite, Melamine
rafen e &1 qm 2 -

(A) e, e (B) diferefi, temmargd
(C) deharrge, feftet (D) SheTSE, HATTEH
The fuel with highest calorific value in kJ/kg unit is —

(A) CNG (B) LPG

(C) Petrol (D) Hydrogen

kJ/kg 3T | waiftreh it wH arer §69 2 -

(A) HIeh (B) werfsh

(C) g (D) TTEgH

The type of teaching aid involved in experiment done by a student in laboratory 1s —

(A) Audio aid (B) Visual aid

(C) Audio-visual aid (D) Activity aid

weh feremeft gr smreTaT | s fond o 8 ffEa fre a1 uer @ -
(A) A HIgd (B) R S ICE

(C) eF-399 WA INRERIEEICE]
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SECTION-IV(b) / @UE - IV(b)

SOCIAL STUDIES / ATHINS 31394

There are 60 questions in all in this section. The candidates who have selected this subject
must answer all the questions,

58 @ve 0 5o 60 Wod 7 | o arafifat 3 s fawa =7 =9m foran @ 5 onft wom e afaamd

91. Who was the Deputy Chairman of the Constituent Assembly i India ?

(A) Dr. Rajendra Prasad (B) K.M. Munshi
(C) AN. Sinha (D) H.C. Mukharji
A 1 wfqam Fmtf aw & smaEg eR 3 7
(A) 3. e T (B) #.TH. qA
(€) . fom (D) v, gEs
92. “Right to Property” is presently mentioned in which Article of the Constitution of India ?
(A) 224 (A) (B) 290 (A)
(C) 300(A) (D) 312(A)
“gfel T TR TAHH B R o dfge & e s A afia g 7 Q%%
(A) 224 (%) (B) 290 (%) BEw.
(C) 300 (=) (D) 312 ()

93. Which Constitutional Amendment was made to provide opportunities for education to the
children of 6 to 14 year of age ?

(A) 74" (B) 81t
(C) 86" (D) 91t
6 8 14 T4 35 % FTcTehi 1 & b IFTOR 5T HTA 2 bt F HITHH T9Ne o w2
(A) 744 (B) 8lal
(C) 8edl (D) 9iaf

94. Who are included in the electoral college of the Vice-President of India ?
(A) Nominated members of Parliament
(B) Elected members of State Legislative Assemblies
(C) Both (A)and (B)
(D) Nominated members of State Legislative Assemblies
R & ITTFI(A o [Aaraeh vt o i M 8 7
(A) TEE % TG e (B) T4 fagmawia & faffd vea
(C) (A) 3 (B) 3= (D) T3 faamenat & v gee
95. Which Article of the Constitution of India described the Power of the President to
“consult” the Supreme Court of India ?

(A) 143 (B) 147
(C) 140 (D) 145
I % I =HTer & WS A i gt 1w e < wfoum By aeee Aafifa g ¢
(A) 143 (B) 147
(C) 140 (D) 145
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96.

97.

98.

99.

100.

101.

(80) PL-2

In which Part of Constitution of India described the Urban Local government 7

(A) 8 (B) 9(A)
(C) 11 (D) 10(A)
G & Gfa4 < forg 9 3 92t syt smem sl @ 7
(A) 8 (B) 9 (%)
(C) 11 (D) 10 (%)

What is the minimum number of Women Members in the National Commission for
Protection of Child Right ?

(A) 2 (B) 3

(C) 4 (D) 5

TR aTet SrfereRm et 3 B =gmew ferat afden we 2 afar € 2

(A) 2 (B) 3

(€ 4 (D) 5

According to Article 74 of the Constitution of India on whose advice does the President act ?
(A) Council of Minister (B) Vice-President

(C) Speaker of Loksabha (D) Governor

I < TG ST 74 % qad TZId [Haeh! TATE § H FT S ¢

(A) ¥t v (B) 3wgufa S0P
(C) TIIhTT 3TE8T (D) =99 BE:
Which of the following is a group of inner planets ?

(A) Mercury, Venus, Earth, Jupiter

(B) Venus, Earth, Mercury, Mars

(C) Earth, Mars, Venus, Jupiter

(D) Earth, Mars, Jupiter, Saturn

frtforfian & & % a1 anrwaftes T8 w1 wH AgE R 7

(A) 4, Ih, g, ggorfa (B) ¥, 9o, qY, T
(C) geh, e, sm, gaerfa (D) eh, W, gewafa, wf

Which of the following is a correct statement with reference to latitude and longitude
respectively ?

(A) 87° North to 197° East (B) 56° North to 91° South

(C) 101° East to 192° West (D) 23° North to 66° East

fFreAferiiga o 9 el 1Y 9 qUT-R % ey 1§ g1 ifvreafad 2

(A) 87°3IWH 197°d (B) 56° 3T H 91° gfém

(C) 101°7d & 192° ufvem (D) 23° A 66° T

Equinox is related to -

(A) 21 March (B) 29 February
(C) 22 December (D) 21 June
(A) 21T & (B) 29 wtall @
(C) 22f@=sa (D) 2154 ¥
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102.

103.

lﬂ4o

106.

(81) C

Which range is located in the north-west direction of the Peninsular Plateau ?

(A) Vindhyachal (B) Satpura

(C) Aravalli (D) Eastern Ghats

Fi Ht g TEEE TeR % S-ufven fom § flua 2 2
(A) faome (B) #agsr

(C) 3HTae (D) &

Which of the following is related to endogenic forces ?

(A) Wind, Glaciers, Volcano

(B) Volcano, Landslides, Earthquake

(C) Earthquake, Landslides, River

(D) Glaciers, Sea-waves, River

frerferfaa § & @ a1 sfadfad aelt & TR R 7

(A) W, ferg, sarenE (B) SATCTHE!, Y&geH, Y

(C) oM, YFEeH, T (D) fewg, wggl-auT, a1

In 1947, he was then Director General of the Archaeological Survey of India.
(A) Alexander Cunningham (B) R.C. Banerjee

(C) R.E.M. Wheeler (D) Sir Jhon Marshal

1947 H R JIccd TAET o Feehieie SRREA - 2

(A) SIS HiAE (B) .. sl Eﬁ’-
(C) FRI.WH, it (D) ¥ AR mEE

. Which Satavahana ruler claimed to be both, a unique Brahmana (eka bamhana) and a

destroyer of the pride of Kshatriyas ?
(A) Satakarni - [ (B) Shiv Skanda Satakarni
(C) Simuka (D) Gautamiputra Sri — Satakarni

oy WTqaTE wTHF 4 W ] S FA (U qTEHT) T & % gd 1 EH e A
ECICIG
(A) Sasufi-vem (B) fora wheg srraeeoft

(C) Tomg (D) Tiienfigt o -smaofi

At which place in Gujarat were the teachings of Lord Mahavira and his followers
presently available were written down about 1500 years ago ?

(A) Valabhi (B) Lothal

(C) Rangpur (D) Bharuch

AU ¥ § ITAH M RN T I S s feand s 1500 99 98 e §
e w2 e foredt g off ¢

(A) deal (B) @ity

(C) TR (D) ¥&d
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107.

108.

lﬂgo

110.

111.

(82) PL-2

Which “Tripitaka’ tells us that there were separate branches for men and women in
‘Sangha’ ?

(A) Abhidhamma Pitaka (B) Sutta Pitaka

(C) Vinaya Pitaka (D) None of these

9§ EN1 SR FerT < T i e - s1er sxa oft, 7% g for ifiess 9w s@m @ 2
(A) 3rfirem e (B) Hd e

(C) foma fres (D) & & 1 T

Which rivers contributed significantly to Magadha’s transportation, water supplies and
making the land fertile ?

(A) Godavan — Tungabhadra (B) Ganga— Son

(C) Chambal — Mahi (D) Krishna — Kaveri

Fi7 ©t AT 3 514 % A1, o - faa v T i 39es 99H § ggey argH e 7
(A) e — g (B) T -dH

(C) ket — Wi} (D) el — el

Most of the Ashoka’s inscriptions have been found in -

(A) Prakrit Language and Brahmi Script Q%%
(B) Pali Language and Devnagari Script et
(C) Sanskrit Language and Brahmi Script

(D) Punjabi Language and Gurumukhi Script

39 & iR SficE T g -
(A) T wrwr s s fafs (B wrfen s e ST ety
(C) wwrawmy s faft (D) o e STk e faf

Which land was granted to Brahmanas and was usually exempted from paying land
revenue and other dues to King ?

(A) Agrabhag (B) Agrahara

(C) Agradaan (D) Bhumi-dan

T I |1 -9 2T S SRV T g fem STat o7 a9t 399 Yfit 9 391 YR % T gR
T A IEY 7

(A) M (B) 3UER

(C) 3weH (D) yfu-2M

In which language was the “Prayaga — Prashasti” composed by Harishena, the court poet
of Samudragupta ?

(A) Praknt (B) Hindi

(C) Pali (D) Sanskrit

TS S AT ORI & Ui ghu 7 g e 1 7 off ¢
(A) STd B) fet

(C) et (D) H&hd
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112.

(83)
The Shunga dynasty was founded by which General of the Mauryas ?
(A) Pushyamitra Shunga (B) Agnimitra Shunga
(C) Vasumitra Shung'l (D) Devbhuti Shunga
37 991 Y T R A SR g s ot ¢
(A) TeafE g (B) arfeifira g

(OREEEERY (D) afd 3

113. Choose the Kanishka’s court poet who composed a biography of the Buddha, the
‘Buddhacharita’.
(A) Saundranand (B) Ashvaghosha
(C) Shudrak (D) Harshvardhan
T o TSR fa T e g 1 e, ggaia & @ Al ot |
(A) = (B) 3TvaETy
(C) & (D) g¥aLH
114. Which was an administrative subdivision of a Mughal province ?
(A) Peshkash (B) Jaagir
(C) Milkiyat (D) Pargana
T A1 § Teh SO e THEe i |1 4T ? msm
(A) TSR (B) ik %ﬁ'ﬁ
(C) fafeswa (D) SUH
115. Which is a Major poetic anthology of Alvar Saints also known as Tamil Ved ?
(A) Tondaradippodi (B) Karaikkal Ammaiyar
(C) Tavram (D) Nalayira Divyaprabandham
HTIR Tl 1 T &F e Tohord 78 et o5 % §9 8 off ST 9 2
(A) dicufeuife (B) HIZFHI 3THIIN
(C) o (D) wefrufeergEygy
116. The Mother of Mughal ruler Jahangir belong to which Rajput dynasty ?
(A) Kachhwaha (B) Rathore
(C) Parmar . (D_) Ch_o_uhan
TSl YT SR 1 AT fohdl T=iqd a9 § Haiferd oft ?
(A) FHBAR (B) T3k
(C) R (D) <&M
117. “A cherry that will drop into our mouth one day.” In 1851 the Governor — General Lord

Dalhousie said this statement about which state ?

(A) Satara (B) Awadh

(C) Jhansi ‘ (D) Nagpur

3 et U fo g & g & e e 1 1851 & e et oS gordeh ¥ 7w wew R
fama s IR A Far YT ¢

(A) T (B) 3aY

(C) et (D) AT
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118.

119.

120.

121.

122.

123.

(84) PL-2
Which day was earmarked for “Direct Action Day™ ?
(A) 14 August 1948 (B) 16 August 1947
(C) 14 August 1946 (D) 16 August 1946
‘T AR feam' &g B @ e fwifa o mn o 2
(A) 14 37, 1948 (B) 16 37, 1947
(C) 14 37, 1946 (D) 16 3T, 1946

By which Constitutional Amendment the Age of adult suffrage in India was reduced from
21 vears to 18 vears ?

(A) 59 (B) 6l

C) 63 (D) T

fopa AfqvT w9y & g1 WA § 996 HaTfusr it 3719 21 o9 o gere 18 o4 1 e 7
(A) 59 (B) 6l

(C) 63 (D) 71

Which feature is not in the *Preamble” of the Constitution of India ?

(A) Secularism (B) Federal Government

(C) Political Justice (D) Equality of Status

WA o WU 6l s § w9 fEma T R 7 -
(A) TY-Taaea (B) THRE I %ﬁﬁ,‘
(C) T =T (D) wfasT &1 FHFEr

During the reign of which ruler Pichola lake was built ?

(A) Bappa Rawal (B) Maharana Lakha

(C) Rana Sanga (D) Rao Chunda

freren gfiet =61 Fmion ferm wimorss < <1t g3 7

(A) 97 e (B) HEHU ATET

(C) ToT Fim (D) & Jue

“Jaisingh Karika” written by Sawai Jai Singh related to which subject ?

(A) Astrology (B) Economics

(C) Politics (D) Military administration

HaTs FateE g foifgd “siafag wifesr ams 0y fra i s gefia 2 7

(A) g (B) e

(C) T (D) S-Sy

‘Pichwai Painting’ related to which school of painting ?
(A) Kishangarh School of painting

(B) Bikaner school of painting

(C) Alwar school of painting

(D) Nathdwara school of painting

freas e frd foasen It d vafta g ¢
(A) Torurg fameren Seft (B) SRR ferrenet Seft
(C) AT ferrehet St (D) Trugn fmshen veit
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124. “Rangadi’ and “Nimadi’ are subdialects of which Rajasthani dialect ?
(A) Malawi (B) Wagdi
(C) Hadauti (D) Shekhawati
T 3R Al for Tomeh aieht i suaferi 2 ¢
(A) Hrerelt (B) danrel
(C) ZrEHt (D) IEE

125. Who was also known as “Meera of Wagad’ ?
(A) Meera Bai (B) Gavari Bai
(C) Koyal Bai (D) Kali Bai
®H e ) Fiw & 9w I oft ST S ot 2
(A) ™ aTg (B) Tadarg
(C) + a7 (D) et 918

126.

127,

128.

Which one of the following is not the aim of Social Science ?
(A) Intellectual and Mental development
(B) Utilization of leisure time

(C) Helpful in bringing social changes E%%
(D) Teaching etiquettes EE
T 5 1 B 1wt fagm A T R e

(A) ifgs 3 wHfte fawmm (B) TGN < BHY F1 GG HiAl

(C) amfes afEady o 4 warass &= (D) figo fmm

The importance of teaching-learning material in Social Science is :

(A) Save time and energy (B) Clarity of the subject matter
(C) Both (A)and (B) are wrong (D) Both (A) and (B) are correct
g fag o frevr-siferm arft 1 0Ew 2

(A) TWF 3T e i g=d (B) fow ag 1 wyma

(C) (A) i (B) gl Tefd 2 | (D) (A) 3R (B) S &l 2 |

*Social Science refers to those branches of the study that deal with humans in their social
relations.” This definition was given by —

(A) Columbia Encyclopedia

(B) Britannica Encyclopedia

(C) Encyclopedia of Social Sciences

(D) Report of, The Commission on Social Studies, USA

“amTor fag @ aTer 31 i 3 RISt 9 2 S Hd WiA 1 Aok HHTih g

g Hgmgn H A 0 2 |7 FR ofe & 2 -
(A) hIAfesT THETgFA g

(B) ferefremt wamgarrfifean

(C) wHaTEFarfifean 37w wvret areds

(D) | HPRT AR, Y. 0. T.
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129.

1300

131.

132.

133.

(86) PL-2

Use of Information Technology in Education started first in which country ?

(A) Britain (B) USA

(C) France (D) Germany

T AT o1 T1eT T weet IwAm fohw < o feha ¢

(A) foea (B) ¥ uH.T

(C) wE (D) S

Which criteria is not correct for a good evaluation ?

(A) Validity (B) Reliability

(C) Objectivity (D) Subjectivity

Teh 3% Gedih o fAU 19 |1 H19de g2l 781 2 7

(A) e (B) favamfaa

(C) e (D) STl

Values of Social Science teaching are —

(A) Social Value (B) Democratic Value 5
(C) Artistic and Recreational Value (D) All of the above %ﬁﬁ,‘
arifes e frem % gea & -

(A) TS gea (B) SHAIT g

(C) TS AR TS I (D) I guft

Summative Assessment is inappropriate for the following :  https://www.pyqonline.com
(A) Deciding upon the grade

(B) Summarising student learning

(C) End of the term assessment

(D) Monitoring the progress of teaching — learning process

TeheTTeHe Yedreh 1 o fore e 8 ~

(A) ooft (I=) Rfvaa s

(B) fermeff s1ferm &1 o |y dan = o

(C) T Tearehd |

(D) Torer-arfermy wfsman =6t wrfe w fomre 5

Which of the following subject is not included in social science at the upper primary level ?

(A) History (B) Civics

(C) Geography (D) Psychology

fre 5 2 = o fawa 3= iufies w w ot famm 8 afifoa @2 ¢
(A) stz (B) AmTHHSITEA

(C) e (D) wHIfer
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134. Which one of the following is the correct example of “Application objective’ of teaching ?

(A) Define (B) Classify
(C) Establish (D) Recall

e 9 & fregor % S S’ 1 wE SeE 2 -

(A) TS & (B)  affertor T
(C) TaTId AT (D) T A1

135. Main components of Information Technology are —

(A) Software (B) Hardware
(C) User (D) All of the above mEE
e AT 6 e e & - et
(A) BIRTR (B) SRR
(C) IR (D) I7H &
136. Which permanent wind blows between 30° South to 60° South latitudes ?
(A) South — East trade winds (B) Polar Easterlies
(C) Westerlies winds (D) North-East trade winds
F Tt Tt e 30° gflt s @ 60° <finlt srears % Hed yarza B E
(A) g -eff careTieeh e (B)  syefter it e
(C) T3 Tad (D) IR-TA ST g
137. Where do willy-willies cyclones originate ?
(A) West Australia (B) Pacific Ocean
(C) Atlantic Ocean (D) Indian Ocean
forefl - Tl <rshaTd +al A= 2 2 7
(A) uiverHt srrgferan (B) I¥Iid HEETR
(C) FAiesh HEm@mR (D) feg meraTR
138. Which of the following oceanic currents are located in the South Atlantic Ocean ?
(1) Brazilian Current (2) Benguela Current
(3) Oyashio Current (4)  Gulf Stream Current
(A) 2,4 (B) 1.2
(C) 3.4 (D) 1,2,4
frrfefigs meramria aroan 3 2 w9 o ard gfaoh sreenfes waramm b fem E 2
(1) ssiifer gm (2) SEen yr
(3) AfyE g (4) % EH Y
(A) 2.4 (B) 1.2
(C) 3,4 (D) 1,2,4
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139.

140.

141.

142,

(88) PL-2
Dechradun, Kotlidun and Patlidun are located at
(A) Between Himadri and Himachal
(B) Between Himachal and Shiwaliks

(C) South of Shiwaliks
(D) North of Himadri

4gUed, higefigd Td ureeligd ferd @ -
(A) T 3 fgomaa & o (B) Teum=et @ fimanfers & A9
(C) fyarfers & efanftwmim (D) faad) o sadt s w

In August, at which latitude does the Subtropical Easterly Jet Stream blow in India ?

(A) 8% North (B) 15° North
(C) 27°North (D) 37° North
TR ATE A YA B TSR sl geff sie Wi uw R srem ) vanfid it B 7
(A) 8° 3T (B) 15°3w

010
(C) 27°FH (D) 37°3W Eﬁ'?

The correct order of the physical regions of Rajasthan located from North to South is
(A) Vindhyan range — Luni Basin — Shekhawati Region — Mahi Plains

(B) Luni Basin — Vindhyan range — Shekhawati Region — Mahi Plains

(C) Shekawati Region — Vindhyan range — Luni Basin — Mahi Plains

(D) Plains of Ghaghar — Bhorat Platcau — Shekhawati Region — Luni Basin

TSR o Wifae weon =1 ot § eftmr fem 3§ sefeafs medi wm 2 -
(A) feer 2oft - ot sféd — @ sew - A A

(B) 1 SR — faemm 2oft — e 96w — orél %1 dgH

(C) G e — e It — ot 9fem — w1 e

(D) &R &I HTH — W H1 18R — JEad w3 — o afe

Which of the following is an example of Arabian Sea drainage system ?
(A) Menal, Kothari, Berach (B) Jojri, Berach, Menal

(C) Kothan, Som, Ruparel (D) Jojri, Bandi, Jawai

fferfigd 9 3HE AU 319ETE 7 1 IR B

(A) TAA, SN, §29 (B) I=El, s, B4
(C) IS, M, TINA (D) =, «@ie), Far
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143. Match the following :
Name of Sanctuary
(1) Desert National Park
(2) Todgarh Raoli
(3) Sita Mata
(4) Mount Abu
m @ 6 @

(89)

Wild animal
(a) Panther
(b) Bear
(¢) Great Indian Bustard
(d) Flying Squirrel

(A) ¢ a d b
(B) a c b d
() d a C b
(D) b d a C
gifera e
HATIRTY T AW T W
() fEwesEm (a) dgam
(2) Treme TEed (b) &
(3) e amr (c) TETEH
(4) 3= 3, (d) s frered)
mMm @ 6 @ (O]
(A) ¢ a d b R
By a ¢ b d
¢y d a c b
(D) b d a ¢
144. Match the following :
Mineral Use
(1) Lead Zinc (a) Electric Wire
(2) Copper (b) Fertilizers
(3) Gypsum (¢) Ceramic
(4) Wollastomite  (d) Battery Acid
1Mn @ 3 @
(A) b C d a
(B) ¢ d a b
(C) a b c d
(D) d a b ¢
TR I
T A
(1) f¥e sre (a) fagaam
(2) dfan (b) 3d=
(3) form (c) T

(4) TfereHEe (d) sef 3

M Q@ & @
(A) b ¢ d a

(B) ¢ d a b
(C) a b c d
(D) d a b ¢
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147.

148.

149.

150.

(90) PL-2

5. The headquarters of North-Western Railway Division is located at

(A) Japur (B) Ajmer

(C) Kota (D) Jodhpur

ITR-fTem {ed Hvee 1 JETery fRud 2 -

(A) AL (B) 37

(C) =l (D) SIY

When did Rana Sanga died ?

(A) 30 January, 1528 (B) 30 July, 1527

(C) 28 August, 1529 (D) 29 November, 1530

o i ] 5 F g 7

(A) 30 W, 1528 (B) 30T, 1527

(C) 28 3T, 1529 (D) 294gR, 1530

Who was the founder of Vishnoi sect ?

(A) Pipaji (B) Achalnathji

(C) Jambhoji (D) Ramanandji -

forgTs Tre % vadE B 9 7 i

(A) arsh (B) A=Y

(C) smaTsh (D) THRE=S

Who was the editor of the newspaper “Pratap™ which gave wide publicity to the Bijoliya
Peasant Movement ?
(A) Gangesh Shankar Vidhyarthi (B) Rama Kishan Verma

(C) Manikyalal Verma (D) Ramlal Ojha

frstifetan feram aTreieta %1 saes IR 24 9Tl BUTER-T7 “TaTT” & H91es i 4 7
(A) Torer skt fepameff (B) T fohard amf

(C) freRIeTTet o (D) TeATe 3T

When was the Matsya Sangh established in the first phase of Rajasthan integration ?
(A) 30.03.1948 (B) 18.03.1948

(C) 11.11.1950 ~ (D) 28.03.1949

TERYTH — AT o HH =07 Wkl T 1 LT 4 58 7

(A) 30.03.1948 (B) 18.03.1948

(C) 11.11.1950 (D) 28.03.1949

Where was the “Rajasthan Seva Sangh” established in 1919 with the contribution of Vijay
Singh Pathik, Ramnarayan Choudhary and Haribhai Kinkar ?

(A) Bhinmal (B) Raipur

(C) Alwar (D) Wardha

1919 # “ste™ 91 g9 i v faeafig ofvs, g el st sferd e &
INTEH o 3 g8 ¢

(A) SfimTe (B) TR

(C) =R (D) =yt
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INSTRUCTIONS / féw
(Read carefully and comply / &= & 72 3R qrem #X)
IMPORTANT / weeaqef

[

[

. In Section 11 (Language-l) a candidate has to attempt the questions of the language which the candidate has selected as Language-1in the
I Section HIGT anguage-11) a candidate has 1o akcmpt the |.|ug_-.l.iun-. of the language w hich the candidate has selected as Language-1i in the

. The candidate must ensure that the Question Booklet Series Code and Shift No. has been filled correctly at the preseribed place in the

. ]]n_ candidate has tn .m-\l.n:; m that subject in Scction (IV a) Mathematics and Science or (1V b) Social Studies as selected by the candidate

Online Applicatipn
b e I R

n. I . PR - - - =
AT W F B e A 2w oamn moSaw et 3 owm [ F B9 8 A aaea-ma § e 2

=11 will be different from Language-L
o1 safererme s Fa AT A o A A - 1 A e A -1 i fEm R - s - Enh o

Online Application Form, The Langu
AU UL AT 1) B FH S e e

OMR Answer Sheet, Your OMR Answer Sheet will be evaluated on the basis of Question Booklet Series Code and Shift No., not

ggue}llo oklet N mber
ﬁ@;é“ Mg e oftren g s @ e g, S A
ﬂmﬂﬁégﬁmﬁ %mwﬁnﬁnrﬁm%' OMR H1Z 1 ST

in the Online Applicaton Form.

If a candidate answers the questions of EhL language or subject other than selected in the Online Application Form, the candidate shall be
personally responsible_for it and it wo |I h.l .m,.j}.u wrong, o

e = 3| WE-TE F avE n'a} a1 (v by amtrE s § 3 fwg & we @ e aen 2, e fam s et
A AHATIA AT FURLE RET T o v - . o
iz werdi aTaE m-ww:mﬁﬂmmﬁmfﬁwmzﬂmqmdmhwiﬁummmm%maﬁ werdi 1w F fEEm
B AT Teld /AT AT |

(]

1),

Read complete instructions carefully and fill the details from SL No. | to 7 in the OMR Answer Sheet and 51 No. 1 to 4 in the Question
Booklet. If yvou fail to fill the details and sign as instructed coreectly, vou will be persanally responsible for the consequences arising during
scanning of your {}\IHAJ]‘-\L&I Sheet.

5 o B @ e Z AR w137 7% OMR ufie v FA 1 8 0 7% we-ham (FEee) @ oa | 3tz smoaem i & faa
ﬂﬂm*ﬂmi‘mﬂfﬂRJﬁEﬁlﬁFﬁﬂ?W?ﬁwmiﬁﬁﬁ Eieies ples e |

The l)m,»‘uc:n Baooklet l,nm]msgs\‘]'ﬁ Pages hay ||]g_ 150 quc'.tican\_ After hcing instructed 1o open the Booklet, only then the candidates will apen
the Question Booklet scals. Check whether the Booklet contains 150 questions starting from Page No. 3 1o 90 The Shift Number required in
OME Sheet will be as per admit card |\-uul o the candidate and also mentiongd un 1hg top of llu Question Booklet.
wsA-iETF] 7 96 98 T 150 Wi § | G .er‘fﬂ‘mTWPWH &1 #@ g | a8 _vF'IT"-'-‘J-;T‘?IﬁT-FFI'HHU
wid & A T yw w3 8 Wi we ';0 % 8 | OMR stz v furge wva -mm F A FEE T AT s i wen & vg A
Werl -Qfea o S AT 0 A A R v 2 |

All questions are of MCQ (Multiple Chaoice Question) type. There is only one correct answer to each question carrying one mark. There
will be no pegative marking for wrong answers,

kb WERFE | e e o e A & |y ne i el il o w8 e wae F B o s e g i
All questions other than language questions of Sections 11 and I1I shall be bilingual.
WHFE-9= % ATHT wWoE [ TA 11 & Wt & wfafea o ad gvat & v fyamdm g7 )

Inany event of any mustake in any question's, condidates will not be penalized. However ne corrgctions will be made in question’s durng the examination.
vy 1 Tt s = ford a1 Tedt wepme = et =128 =2m ) e = i1 3 AT 8 T WeRT o AT A AT A |
Rough work, if any, may be done in the Question Booklet only in the space provided at the end of the Booklet, Do not tear it off from the
ugstion Booklet, No additiopal paper shall be provided.
1 WoFTE O TF T4 2 WA -1 A 8 e A W 2 | 7 e g @ A wr, | Famft s afafo wm saeer e |

Use of Log tables, Caleulator, Slide rule, Maobile phone, Pager, Digital diary, Bluctooth, Microphone or any other electronic itemiinstrument
ete. 1s not allowed. Their use will result in disqualjfics nlon . L. . i
P P, FeFgeed, T T, AEES T, g, I, ey, WEEEE M fEh g vER @ il 39 4 a w owEm atie
?l?ﬂtﬁ—mq—ﬁ.nq:ﬂmtrrfﬁhmmm?l )
OMR Answer Sh a8 will be prov ti-s.cl along with Question Booklet separately,
OMR T2 9 - & |14 WETA o AT |
The Chuestion [3m1k||.‘l will be I‘-‘-lILd to the candidates 10 minutes before the start of examination and the candidate must fill all entries in OMR
AnswerSheet. The Question Bookletscal shall beopened S minutesbefore the start of examinationand the candidate must Gl 1 tod entries correetly
on the Question Booklet, Afteropening the Question Booklet, ensure that any page/ question is not missing / not printed / tomn / repeated. In case,
vou find any defect !11'\.'\.\|1=_|L in the Quu.tltrn Booklet, immediately inform the 1n'.|~!|l vorand getnt IL|'I! wed within 5 minuics h\ the |n\1"l| WO,
Warning Bell will ring at 5 minutes before eloser of examination and the last long bell will ring at closer of examination.
sl 1 WA -YTEAE] T s B F 10 A 9d AT | A AEyEE ' A OMR iz § A qfafLem T AT WEE AW | WA
qfere i @ T e F <F:a-|-.'~:rq‘?§1‘r=r=1'm:rqm | 4'.ﬁwﬁ|1??a‘r TE T A |m‘r-qﬁ=ﬂnm?-rl:rqaﬁq'ﬁmmm
a4z qiiswa # 5 Zaw_feifs aam 9 8 'FI"‘;IFI?, AT A PE QW # WA Wel A1 A9 ¢ A e AR A2 T2 | Al g

1Erﬁr—r ?ﬂﬂfﬂﬁ?#ﬁ'mﬁqmmnr—r T W | SAE g

anﬁ?%fﬂ'ﬁqimmnﬁ'ﬁ aﬁqﬁhnmﬁwwm
Write your Name, Exq im Center Code, Signature, Roll No., Question Booklet Sernies Code, Shift Number and Question Paper Booklet Number
in the space provided in_the Question Booklet as well as in_the OMR Answer Sheet.
aa-qﬁ%ﬂ Trrl}n\m mztr?hﬂf? TIA W AR, W F F EIE, s, A, v -afeaw @i e, firee s o na giam
With h qucaliurl vou will find 4 |'iil'|hl.hll_' answers marked 15} the letiers A, B, O & 1D, Read each qucmitm C:ll'l_'rl]”}' and find out which
answer, according to you is correct. Indicate vour answer by darkening the appropriate circle completely in the OMR Answer Sheet comesponding
to the question. For m.Lerg_ ANSWERS USC b]llt black ballpoint pen only. Gel pens/peneils are_not allowed.
Wel: WA 3 TR g TULA, B(HI)'E]L"'_-T ?I";I'u"ﬂ'ﬂLWFH'H’?T_*RTHWF_HEF_'REHU\]Humqﬁﬁfﬂﬂﬁwqmzﬁm1
2R T 1 AT A O W | T A 290 2 ﬁwmmﬂ?aﬁmqqﬂﬂmm T | W% U ar e @ s
WRONG ( mrewr WROMNE ey WRONG S wyee

[ orTee! \.I-;‘.|'.t'|.| CORRECT /i W rong ‘\1(.'Ihll|| WRONG /e
T coCoe| ™M WOQO||log0o||lcono||ce0e

OM R Answer Sheet isdesigned for computer evaluation. Ifvou do not Follow the instructions given above and at the backside of the OMR Answer
Sheet, it may make cvaluation by computer difficult. Any resultant loss to the candidate on the above account shall be of the candidate only.
OM R e 1 Forezs GRT T & ford S v 2 136 s s v OM R iz 5 free: e w s fasi o arem i e, ot seges g sirve
AT A 21 AT |mmqqﬁﬂn°ﬁﬂmwwﬁhwaﬁcﬂ'ﬁmﬁ=m|

No candidate should leave the examination hall before the final bell. The OMR Answer Sheet is carbonless in duplicate having perforation on the
left side. Candidate should detach carefully the Original Copy from the Candidate’s Copy { Duplicate) so that the Oniginal Copy is not mutilated
inany way. Candidate should handover the Original OMR ('np\ and Question Booklet to the invigilator betore leaving the examination hall.
Candidate can carry only the Candidate \O\Il-lcup\ with him/her. Quullun Baoklet is not allowed to h-. taken by the candidate.

Frd wiaredi st o4 a9t & T4 W F =17 T8 o W | OMR $ite e dem w sl afm 2 s ardi J0F WERIE
e 2 ) el A @ serl £ whr (aafefn) @ ge ofy w1 i s 5 anfE fel o6 e a nﬂﬁaﬂirﬁ'ﬂhqq—ﬁwmm w
‘H?q?tmqm;_ggkﬁ wfd vd uyA-giea diaw w a g 1 aved e writ OMR $t wh g st wmr @ | Wy
s o | Ll |

€

https://www.pygonline.com


https://www.pyqonline.com/

